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TNPSC GROUP I TEST BATCH 2024 

TEST VII  6-12TH LIFE SCIENCE (BOTANY & ZOOLOGY) 
 

1. Match the following  
 List I      List II  

A. Flowering Plant    1. Riccia  
B. Non Flowering Plant   2. Cycas  
C. Gymnosperms    3. Mango 
D. Angiosperms    4. Sun flower  
 A B C D 
a. 4 2 1 3  
b. 4 3 2 1 
c. 4 1 2 3  
d. 4 2 1 3  
e. Answer not known 
nghUj;Jf: 
 thpir I    thpir II  
A. G+f;Fk; jhtuk;   1. hpf;rpah  
B. G+thj; jhtuk;   2. irf;f]; 
C. [pk;Ndh];ngh;k;   3. kh 

D. MQ;rpNah];ngh;k;   4. #hpa fhe;jp  
 A B C D 
a. 4 2 1 3  
b. 4 3 2 1 
c. 4 1 2 3  
d. 4 2 1 3 
  

2. Consider the following statements. 
Assertion (A) : A virus that contains RNA instead of DNA is called a retrovirus 
Reson (R): Once inside the host cell's cytoplasm, the retro virus produces its own 
reverse transcriptase enzyme to produce DNA from its RNA genome  
a. Both (A) and (R) correct  
b. Both (A) and (R) incorrect  
c. A is true R is False  
d. A is False R is True  
e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdp.  
$w;W (A): DNA tpw;F gjpyhf RNA it ngw;Ws;s itu]; nul;Nuh itu]; vd 
miof;fg;gLfpwJ.  
fhuzk; (R): Xk;Gaphp nry;ypd; irl;Nlhgpshrj;jpy; nul;Nuhitu]; GFe;jTld; mjd; 
hpNth;]; buhd;];fphpg;Nl]; nehjp %yk; RNA kuGnghUs; DNA thf khw;wg;gLfpwJ.  
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a. (A) kw;Wk; (R) rhp   b. (A) kw;Wk; (R) ,uz;Lk; jtW 
c. (A) rhp Mdhy; (R) jtW  d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
3. Sun Screen lotion reduces your skin's ablity to produce ____ by up to ______. 

a. Vitamin E, 90%  b. Vitamin D, 95%   c. Vitamin E, 95%  
d. Vitamin D, 90%  e. Answer not known 
#hpaj; jpiu G+r;R Njhypyd; ______ cw;gj;jpia _______ Fiwf;fpwJ. 
a. tpl;lkpd; E, 90%  b. tpl;lkpd; D, 95%   c. tpl;lkpd; E, 95%  
d. tpl;lkpd; D, 90%  e. tpil njhpatpy;iy 

 
4. Consider the following statement about self pollination  

1. Pollen grains are transferred to the stigma of the same or to another flower of the 
same plant.  

2. Plants do not need to produce pollen grains in a large quantity 
3. It does not produce changes in the characteristics of new plants.  
4. Example – Beans, Tomatoes  
Find the correct statement  
a. 1, 4 False 2, 3 correct  b. 1, 4 correct 2, 3 false   c. All are correct   
d. 1, 3, 4 correct 2 False  e. Answer not known 
jd; kfue;j Nrh;f;if gw;wpa gpd;tUk; thf;fpaq;fis ftdp: 
1. xU kyhpd; kfue;jj;J}s;fs; mNj kyhpd; #yfKbiaNah my;yJ kw;nwhU 

kyhpd; #yf KbiaNah miltJ jd; kfue;j Nrh;f;if  
2. jd; kfue;jNrh;f;if elf;f mjpf mstpy; kfue;jj;J}s;fs; cw;gj;jpahf Ntz;Lk; 

vd;w mtrpakpy;iy.  
3. ,jdhy; cUthFk; Gjpa jhtuq;fspy; vt;tpj NtWghLfSk; ,Uf;fhJ  
4. vLj;Jf;fhl;L - mtiu> jf;fhsp 
rhpahdij fz;Lgpb 
a. 1> 4 jtW 2> 3 rhp  b. 1> 4 rhp 2> 3 jtW   c. vy;yhk; rhp  
d. 1> 3> 4 rhp 2 jtW  e. tpil njhpatpy;iy 

 
5. You can see some green part above Brinjal and Lady's finger. what are they?  

a. Style    b. Pedicel    c. Petal   
d. Sepal    e. Answer not known 
fj;jhp kw;Wk; ntz;ilf;fhapd; mbg;gFjpapy; gRik epwg;gFjp ,Ug;gijg;ghh; mJ 
vd;d? 
a. #y;jz;L   b. G+f;fhk;G   c. my;yp ,jo;  
d. Gy;yp ,jo;   e. tpil njhpatpy;iy 

   
6. Consider the following statement about Asexual reproduction  

1. The production of new plants without the involvement of pollination and 
Fertilization 

2. Vegetative propagation, Fragmentation, Budding and Spore formation are types 
of this reproduction.  

3. Gametes involve in this reproduction  
a. 1, 2 correct 3 incorrect   b. 1, 2, 3 correct   c. 1, 2, 3 incorrect   
d. 1 correct 2, 3 incorrect   e. Answer not known 
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ghypyh ,dg;ngUf;fk; gw;wpa gpd;tUk; thf;fpaq;fis ftdp.  
1. kfue;jNrh;f;if kw;Wk; fUTUjy; eilngwhky; gpw topfspy; eilngWk; jhtu 

cw;gj;jp  
2. cly; ,dg;ngUf;fk;> Jz;lhjy; nkhl;L tpLjy; kw;Wk; ];Nghh; cUthjy; ,jd; 

tiffs; MFk;.  
3. Nfkpl;Lfs; ,t;tpdg;ngUf;fj;jpy; gq;Nfw;fpd;wd.  
a. 1> 2 rhp 3 rhpay;y   b. 1> 2> 3 rhp   c. 1> 2> 3 rhpay;y   
d. 1 rhp 2> 3 rhpay;y   e. tpil njhpatpy;iy 

  
7. How many pairs are correctly matched?  

 Reproduction    Plants  
1. Spore formation    - Fungi  
2. Fragmentation    - Spirogyra  
3. Budding     - Yeast  
4. Vegetative Propagation   - Sugarcane  
a. One pair   b. Two pairs   c. Three pairs 
d. All pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
,dg;ngUf;fk;    jhtuq;fs;  
1. ];Nghh; cUthjy;  - G+Q;ir  
2. Jz;lhjy;    - ];igNuhifuh 
3. nkhl;L tpLjy;   - <];l;  
4. cly ,dg;ngUf;fk;   - fUk;G  
a. xU ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. midj;J ,izfs; e. tpil njhpatpy;iy 

 
8. _______ present in the epiphytic root of Vanda plant absorbs moisture to perform 

photosynthesis. 
a. Velamen tissue   b. Parenchyma tissue  c. Collenchyma tissue  
d. Sclerenchyma tissue e. Answer not known 
thz;lh jhtuj;jpd; njhw;W Nth;fspy; cs;s _____ fhw;wpd; <ug;gjj;ij cwpQ;rp 
xspr;Nrh;f;iff;F cjTk;  
a. ntykd; jpR  b. ghud;ifkh jpR   c. Nfhyd;ifkh jpR  
d. ];fpspud;ifkh jpR  e. tpil njhpatpy;iy 

 
9. Match the following  

Underground Modifications   Plants  
A. Rhizome      1. Onion  
B. Corm      2. Potato 
C. Tuber      3. Colocasia  
D. Bulb     4. Turmeric  
 A B C D 
a. 4 3 2 1  
b. 3 2 4 1  
c. 1 4 2 3 
d. 2 3 1 4 
e. Answer not known 
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nghUj;Jf: 
jiufPo;jz;bd; khw;WUf;fs;  jhtuq;fs;  
A. kl;lepyj;jz;L     1. ntq;fhak;  
B. fe;jk;     2. cUisf;fpoq;F  
C. fpoq;F      3. Nrg;gq;fpoq;F  
D. Fkpok;     4. kQ;rs;  
 A B C D 
a. 4 3 2 1  
b. 3 2 4 1  
c. 1 4 2 3 
d. 2 3 1 4 
e. tpil njhpatpy;iy 

 
10. Which one of the following organism is eukaryote?  

a. Rhodospirillum rubrum   b. Cyanobacteria   c. Yeast   
d. Pseudomonas    e. Answer not known 
gpd;tUk; caphpfSs; ve;jnthd;W A+NfhpNahl; MFk;?  
a. NuhNlh];ighpy;yk; &guk; b. iraNdhghf;Bhpah   c. <];l;  
d. #NlhNkhdh];    e. tpil njhpatpy;iy 

 
11. Bentham and Hooker's classification is an example of ________. 

a. Artificial system of classification  b. Natural system of classification  
c. Phylogenetic system of classification  d. Modern system of classification  
e. Answer not known 
nge;jk; kw;Wk; `{f;fhpd; tifg;ghl;bay; Kiw _________ tifghl;bw;F 
vLj;Jf;fhl;L MFk;.  
a. nraw;if tifg;ghl;L Kiw   b. ,aw;if tifg;ghl;L Kiw  
c. kuGtop tifg;ghl;L Kiw   d. etPd tifg;ghl;L Kiw  
e. tpil njhpatpy;iy 
 

12. Find the correct statements about Monocotyledonae.  
1. Seed has single cotyledon   2. Leaves have parallel venation  
3. Fibrous root system is present   4. Flowers are Trimerous  
a. 1, 2 correct 3, 4 incorrect   b. 1, 2, 3, 4 correct  
c. 1, 2, 3 correct 4 incorrect   d. 1, 3, 4 correct 2 incorrect  
e. Answer not known 
 xU tpijapiyj; jhtuq;fs; gw;wpa rhpahd thf;fpaq;fis fz;Lgpb. 
1. xU tpijapiyiaf; nfhz;Ls;sd.  
2. ,iyfspy; ,izNghf;F euk;gikT cs;sd.  
3. ry;yp Nthpidf; nfhz;Ls;sd.  
4. kyh;fs; %d;W mq;fq;fisf; nfhz;bUf;Fk; 
a. 1, 2, rhp 3, 4 rhpay;y  b. 1, 2, 3, 4 rhp  
c. 1, 2, 3 rhp 4 rhpay;y  d. 1, 2, 4 rhp 2 rhpay;y  
e. tpil njhpatpy;iy 

 
13. Consider the following statements: 

Assertion (A) : Algae belongs to thallophyta, and the plant body of algae are called 
thallus.  
Reason (R): The plant body of Algae is not differentiated into root, stem and leaf.  
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a. Both (A) and (R) are correct  and (R) is the correct explanation to (A). 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;f.  
$w;W (A): ghrpfs; jhNyh/igl;lh tifiar; rhh;e;jJ. jhtu clykhdJ jhy]; 
vd miof;fg;gLfpwJ.  
fhuzk; (R): ghrpfspd; jhtu clykhdJ Nth;> jz;L> ,iy vd NtWgLj;j ,ayhJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R), (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp NkYk; (R), (A) f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
14. Match the following:  
 Algae     Types of Pigments 

A. Bluegreen algae   1. Fucoxanthin 
B. Green algae   2. Chlorophyll 
C. Brown algae   3. Phycocyanin  
D. Red algae    4. Phycoerythirin  
 A B C D 
a. 3 2 1 4  
b. 3 2 4 1  
c. 2 3 1 4  
d. 2 3 4 1 
e. Answer not known  
nghUj;Jf:  
 ghrpfs;    epwkpapd; tif  
A. ePyg;gr;irg; ghrpfs;  1. /gpA+f;Nfhrhe;jpd;  
B. gr;irg; ghrpfs;   2. gr;irak;  
C. gOg;Gg; ghrpfs;    3. /igNfhradpd;  
D. rptg;Gg; ghrpfs;    4. /igNfhvhpj;jphpd;  
  A B C D 
a. 3 2 1 4  
b. 3 2 4 1  
c. 2 3 1 4  
d. 2 3 4 1  
e. tpil njhpatpy;iy 

 
15. Which one of the following algae is used in space travel to get rid of CO2 and 

decompose human wastes?  
a. Laminaria   b. Chlorella pyrenoidosa   c. Gelidium   
d. Gracillaria   e. Answer not known 
gpd;tUk; ghrpfSs; ve;jnthd;W tpz;ntspg; gazj;jpd; NghJ CO2 it 
mfw;Wtjw;Fk; kdpjf; fopTfis kl;fr; nra;tjw;Fk; gad;gLj;jg;gLfpwJ?  
a. NykpNdhpah  b. FNshnuy;yh /ighpdha;Nlhrh   c. n[ypbak;  
d. fpNurpNyhpah   e. tpil njhpatpy;iy 
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16. Peat is a valuable fuel like coal obtained from ________. 
a. Riccia   b. Anthoceros    c. Funaria    
d. Sphagnum   e. Answer not known 
gPl; vd;gJ epyf;fhpiag; Nghy; tpiykjpg;Gila vhpnghUshFk; ,J _______ ypUe;J 
ngwg;gLfpwJ. 
a. hpf;rpah   b. me;Njhnru];   c. /gpA+Ndhpah   
d. ];Ngf;dk;   e. tpil njhpatpy;iy 

 
17. Find the correct statements about Gymnosperms. 

1. It has two phases in its life cycle 
2. They have well developed vascular tissues. 
3. The water conducting tissue is tracheid  
4. The food conducting tissue is sieve cell. 
a. 1, 2, 3 4 correct   b. 1, 2, 3, 4 incorrect   c. 1, 2 correct 3, 4 incorrect  
d. 1, 2 incorrect 3, 4 correct e. Answer not known 
[pk;Ndh];ngh;k;fs; gw;wpa rhpahd thf;fpaq;fisf; fz;Lgpb.  
1. [pk;Ndh];ngh;k;fspd; tho;f;ifr; Row;rpapy; ,Uepiyfs; fhzg;gLfpd;wd.  
2. ,tw;wpy; ed;F tsh;r;rpaile;j flj;Jk; jpRf;fs; cs;sd.  
3. ePiuf; flj;jf;$ba jpRthdJ l;uhf;fPLfshFk;  
4. czitf; flj;jf;$ba jpRthdJ ry;yil nry;yhFk;  
a. 1, 2, 3, 4 rhp   b. 1, 2, 3, 4 rhpay;y  c. 1, 2 rhp 3, 4 rhpay;y  
d. 1, 2 rhpay;y 3, 4 rhp  e. tpil njhpatpy;iy 

 
18. Consider the following statements 

Assertion (A) : Xylem conducts water and Minerals  
Reason (R): Phloem conducts Organic solutes or food materials  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct and (R) is not the correct explanation to (A) 
c. (A) is true (R) is false  
d. (A) is False (R) is True  
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
$w;W (A) : iryk; ePh; kw;Wk; fdpkq;fisf; flj;Jfpd;wd.  
fhuzk; (R): /GNshak; fhpkf; fiunghUl;fs; my;yJ czTg;nghUl;fis 
flj;Jfpd;wd.  
a. (A) kw;Wk; (R) rhp NkYk; (R), (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R), (A) f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
19. Consider the following statement about Amitosis  

1. It is the simplest mode of cell division  
2. It occurs in unicellular animals  
3. Karyokinesis occurs first  
4. Cytokinesis occurs finaly  
a. 1, 2, 3, 4 correct   b. 1, 2 correct 3, 4 incorrect   c. 1, 2, 3, 4 incorrect   
d. 2, 4 correct 1, 3 incorrect  e. Answer not known 
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Vikl;lhrp]; gw;wp gpd;tUk; thf;fpq;fisf; fUj;jpy; nfhs;.  
1. Vikl;lhhp]; vd;gJ xU vspaKiw nry; gFg;ghFk;  
2. ,J xU nry; tpyq;Ffspy; epfo;fpwJ  
3. Kjypy; NfhpNahifdrp]; eilngWfpwJ  
4. ,Wjpahf irl;Nlhifdrp]; eilngWfpwJ  
a. 1, 2, 3, 4 rhp   b. 1, 2 rhp 3, 4 rhpay;y   c. 1, 2, 3, 4 rhpay;y  
d. 2, 4 rhp 1, 3 rhpay;y  e. tpil njhpatpy;iy 

 

20. Which phase takes a longer duration in meiosis? 
a. Telophase I  b. Anaphase II    c. Prophase II  
d. Prophase I   e. Answer not known 
kpahrp]; gFg;gpy; ve;j epiy ePz;l fhyj;ij vLj;Jf;nfhs;fpwJ? 
a. BNyhepiy – I   b. mdhepiy – II   c. GNuhepiy – II  
d. GNuhepiy – I   e. tpil njhpatpy;iy 

 

21. Find correct equation of Photosynthesis. 

a. 6 CO2 + 5 H2O Sunlight

Chlorophyll
⎯⎯⎯⎯⎯→  C6H12O6 + 6O2↑ 

b. 5 CO2 + 6 H2O Sunlight

Carotenoid
⎯⎯⎯⎯⎯→C5H12O6 + 6O2↑ 

c. 5 CO2 + 6 H2O Sunlight

Chlorophyll
⎯⎯⎯⎯⎯→  C5H12O6 + 6O2↑ 

d. 6 CO2 + 6 H2O Sunlight

Chlorophyll
⎯⎯⎯⎯⎯→  C6H12O6 + 6O2↑ 

e. Answer not known 
xspr;Nru;f;if gw;wpa rhpahd rkd;ghl;il fz;Lgpb 

a. 6 CO2 + 5 H2O ⎯⎯⎯⎯⎯→
;

#hpa xsp
FNshNuhgpy

 C6H12O6 + 6O2↑ 

b. 5 CO2 + 6 H2O ⎯⎯⎯⎯⎯→#hpa xsp
fNuhl;bdha;L  C5H12O6 + 6O2↑ 

c. 5 CO2 + 6 H2O ⎯⎯⎯⎯⎯→
;

#hpa xsp
FNshNuhgpy

 C5H12O6 + 6O2↑ 

d. 6 CO2 + 6 H2O ⎯⎯⎯⎯⎯→#hpa xsp
FNshNuhgpy;

 C6H12O6 + 6O2↑ 

e. tpil njhpatpy;iy 
 

22. Find the non-essential amino acid. 
a. Leucine  b. Isoleucine     c. Glycine   
d. Lysine  e. Answer not known 
mj;jpahtrpakpy;yhj mkpNdh mkpyj;ij fz;Lgpbf;fTk; 
a. Yird;  b. INrh Yird;    c. fpisrpd;   
d. iyrpd;  e. tpil njhpatpy;iy 

 

23. Match the following 
Vitamins   Deficiency Disorder 
A. Thiamine   1. Pernicious anaemia 
B. Riboflavin   2. Pellagra 
C. Niacin   3. Beriberi 
D. Cyanocobalamine 4. Cheilosis 
E. Ascorbic acid  5. Scurvy 
 A B C D E 
a. 3 4 2 1 5 
b. 3 2 4 1 5 
c. 4 2 1 3 5 
d. 4 2 3 1 5 
e. Answer not known 
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nghUj;Jf 
itl;lkpd;fs;   FiwghL Neha;fs; 
A. jakpd;   1. capiu Nghf;Fk; ,uj;jNrhif 
B. upNgh/gpNstpd;  2. ngyhf;uh 
C. epahtpd;   3. nghpnghp 
D. iraNdhNfhghyikd; 4. fPypahrp]; 
E. m];fhu;gpd; mkpyk; 5. ];fu;tp 
 A B C D E 
a. 3 4 2 1 5 
b. 3 2 4 1 5 
c. 4 2 1 3 5 
d. 4 2 3 1 5 
e. tpil njhpatpy;iy 

   
24. Find the trace elements. 

1. Magnesium   2. Manganese   3. Molyb denum  
4. Iron    5. Selenium  
a. 2, 3, 4, 5 correct, 1 incorrect  b. 1, 2, 3, 5 correct, 4 incorrect  
c. 3, 4,5 correct, 1, 2 incorrect   d. 1,3,4,5 correct, 2 incorrect  
e. Answer not known 
Fiwthf Njitg;gLk; jdpkq;fis (Trace Elements) fz;lwpaTk;  
1. nkf;dPrpak;   2. khq;fdP];    3. khypg;bdk;  
4. ,Uk;G    5. nrypdpak;  
a. 2, 3, 4, 5 rhp, 1 rhpay;y   b. 1, 2, 3, 5 rhp, 4 rhpay;y  
c. 3, 4, 5 rhp, 1, 2 rhpay;y    d. 1,3,4,5 rhp, 2 rhpay;y  
e. tpil njhpatpy;iy 

 
25. Pasteurization involves boiling of milk to a temperature of ______ for about _______ 

and suddenly cooling to destroy the microbes present in the milk. 
a. 53°C, 25 minutes   b. 63°C, 30 minutes    c. 73°C, 25 minutes   
d. 73°C, 30 minutes   e. Answer not known 
gh];lh; gjdk; Kiwapy; ghy; ________ ntg;gepiyapy; ______ epkplq;fs; 
nfhjpf;fitf;fg;gl;L clNd Fsp&l;Lk;nghOJ ghypy; cs;s Ez;Zaphpfs; 
mopf;fg;gLfpd;wd.  
a. 53° C, 25 epkplq;fs;  b. 63° C, 30 epkplq;fs;   c. 73° C, 25 epkplq;fs;  
d. 73° C, 30 epkplq;fs;  e. tpil njhpatpy;iy 

 

26. ______ deals with development enhancement of fruit quality, cultivation techniques 
of fruits.  
a. Pedology  b. Phenology    c. Philology   
d. Pomology   e. Answer not known 
goq;fspd; juk;> cw;gj;jp Kiwfs; Mfpatw;iw Kd;Ndw;wp Nkk;gLj;JtJ _______. 
a. gPNlhy[p  b. ngNdhy[p    c. gpNyhy[p  
d. Nghky[p   e. tpil njhpatpy;iy 

 

27. Find the correct statement about importance of hydroponics.  
1. Conservation of water and nutrients  
2. Controlled plant growth  
3. In deserts and Arctic regions Hydroponics can be an effective alternative method  
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a. 1, 2 correct 3 incorrect  b. 1, 3 correct 2 incorrect  c. 1 correct 2, 3 incorrect  
d. 1, 2, 3 correct   e. Answer not known 
i`l;NuhNghdpf;]pd; Kf;fpaJtk; gw;wpa rhpahd thf;fpq;fis fz;Lgpb.  
1. Cl;lrj;Jk;> ePUk; ghJfhf;fg;gLfpd;wd.  
2. fl;Lg;gLj;jg;gl;l jhtu tsh;r;rp fhzg;gLk;  
3. ghiytdq;fspYk;> Mh;bf; JUtg; gFjpfspYk; ,J rpwe;j khw;W Ntshz; 

Kiwahf cs;sJ 
a. 1, 2 rhp 3 rhpay;y b. 1, 3 rhp 2 rhpay;y  c. 1 rhp 2, 3 rhpay;y 
d. 1, 2, 3 rhp    e. tpil njhpatpy;iy 

 
28. Match the following:  
 Nitrogen Cycle    Microorganism  

A. Nitrogen fixation   1. Pseudomonas  
B. Ammonification    2. Nitrosomonas  
C. Nitrification    3. Nostoc  
D. Denitrification     4. Fungi  
 A B C D 
a. 3 4 2 1  
b. 4 3 2 1 
c. 4 3 1 2  
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf:  
iel;u[d; Row;rp   Ez;Zaph;fs;  
A. iel;u[d; epiyepWj;Jjy;  1. #NlhNkhdh]; 
B. mk;Nkhdpahthjy;   2. iel;uNrhNkhdh];  
C. iel;Nul;lhjy;    3. eh];lhf;  
D. iel;u[d; ntspNaw;wk;  4. G+Q;ir  
 A B C D 
a. 3 4 2 1  
b. 4 3 2 1 
c. 4 3 1 2  
d. 3 4 1 2 
e. tpil njhpatpy;iy 

 
29. Aloe Vera store water in succulent water storing _______ tissues.  

a. Parenchyma  b. Chlorenchyma    c. Collenchyma  
d. Sclerenchyma  e. Answer not known 
MNyh tPuh jhtuk; rijg;gw;Wkpf;f _______ jpRf;fspy; ePiu Nrkpj;J itf;fpd;wd.  
a. ghud;ifkh   b. FNshud;ifkh   c. Nfhyd;ifkh  
d. ];fpsPuhd;ifkh   e. tpil njhpatpy;iy 

 
30. Aestivation found in ______. 

a. Bat    b. Earth worm   c. Polar Bear  
d. Snake   e. Answer not known 
V];bNt~d; ________y; fhzg;gLfpwJ 
a. ntsthy;  b. kz;GO    c. JUt fub   
d. ghk;G   e. tpil njhpatpy;iy 
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31. Find the correct statement about IUCN  
1. The vision of IUCN is "A just world that values and conserves nature.  
2. IUCN Publishes red list of Threatened species.  
3. IUCN conserve the integrity and diversity of nature and natural resources  
a. 1, 2, 3 incorrect   b. 1, 2 3 correct   c. 2, 3 correct 1 incorrect   
d. 2 correct 1, 3 incorrect  e. Answer not known 
IUCN gw;wpa rhpahd thf;fpaq;fis fz;Lgpb.  
1. ",aw;ifia kjpf;ff;$ba kw;Wk; ghJfhf;ff;$ba Neh;ikahd cyfk;" vd;gNj 

IUCN d; Nehf;fkhFk;.  
2. IUCN mr;RWj;jYf;F cs;shd rpw;wpdq;fspd; rptg;G gl;baiy ntspapLfpwJ.  
3. IUCN ,aw;ifapYs; Ntw;Wik kw;Wk; xw;Wik kw;Wk; ,aw;if tsq;fis 

ghJfhf;fpwJ.  
a. 1, 2, 3 rhpay;y  b. 1, 2, 3 rhp    c. 2, 3 rhp 1 rhpay;y   
d. 2 rhp> 1, 3 rhpay;y   e. tpil njhpatpy;iy 

 
32. Find the correct statement about function of epidermal tissue system.  

1. It does not protect the inner tissues.  
2. Stomata helps in transpiration  
3. Cuticle checks evaporation of water  
4. Root hairs help in absorption of water and minerals  
a. 1, 2, 3, 4 correct    b. 2, 3, 4 correct 1 incorrect    
c. 2 correct 1, 3, 4 incorrect   d. 1,2, 3, 4 incorrect  
e. Answer not known 
Gwj;Njhy; jpRtpd; gzpfs; gw;wpa rhpahd thf;fpaq;fisf; fz;Lgpb.  
1. ,J cl;GwjpRf;fis ghJfhf;ftpy;iy 
2. ];NlhNkl;lh ePuhtpg;Nghf;F eilngw cjTfpd;wd.  
3. fpA+l;bf;fps; ePuhtpg; Nghf;fpid jLf;fpwJ 
4. Nth;j;J}tpfs; ePh; kw;Wk; fdpkq;fis cwpQ;r gad;gLfpd;wd.  
a. 1> 2> 3> 4 rhp    b. 2> 3> 4 rhp 1 rhpay;y  
c. 2 rhp> 1> 3> 4 rhpay;y  d. 1> 2> 3> 4 rhpay;y  
e. tpil njhpatpy;iy 

 
33. Example for conjoint, collateral and open vascular bundle  

a. Dicot root     b. Monocot root   c. Dicot stem   
d. Monocot stem    e. Answer not known 
xd;wpize;j xUq;fike;j jpwe;j th];Fyhh; fw;iwf;F vLj;Jf;fhl;L  
a. ,Utpj;jpiy  jhtu Nth; b. xUtpj;jpiy jhtu Nth;  
c. ,Utpj;jpiy jhtu jz;L d. xUtpj;jpiy jhtu jz;L  
e. tpil njhpatpy;iy 

 
34. Some cells of upper epidermis of monocot leaf are large and thin walled they are 

known as ______. 
a. Cuneiform cells   b. Fusiform cells    c. Bulliform cells   
d. Napiform cells   e. Answer not known 
xUtpj;jpiy jhtu ,iyapd; Nky;Gwj;Njhypy; cs;s rpy nry;fs; nky;ypa RtUld; 
nghpjhf cs;sJ. ,it _______ vdg;gLfpd;wd.  
a. fpA+dpghh;k; nry;fs; b. gpA+rpghh;k; nry;fs;   c. Gy;yp ghh;k; nry;fs; 
d. Neg;gpghh;k; nry;fs;  e. tpil njhpatpy;iy 

 



 

11 | Page  044-24339436, 42867555, 9840226187 
 

35. Grana are interconnected to each other by membranous lamellae called _____. 
a. Fret channels   b. Grew channels    c. Sachs channels   
d. Raven channels   e. Answer not known 
fpuhdhf;fs; xd;Nwhnlhd;W rt;T Nyky;yh %yk; ,izf;fg;gl;Ls;sJ. ,J ________ 
vd;W miof;fg;gLfpwJ.  
a. ngnul; Nrdy;  b. F& Nrdy;    c. rhf;]; Nrdy;  
d. Nutd; Nrdy;   e. tpil njhpatpy;iy 

 
36. Consider the following statements  

Assertion (A) : Mitochondria is referred to as the power house of the cell.  
Reason (R) :Mitochondria produce adenosine diphosphate  (ADP) which form the 
energy currency of the cell. 
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true (R) is false    
d. (A) is false (R) is true 
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;  
$w;W (A) : ikl;Nlhfhz;l;hpah nry;ypd; Mw;wy; epiyak; vd miof;fg;gLfpwJ.  
fhuzk; (R) : ikl;Nlhfhz;l;hpah mbNdhird; ilgh];Ngl;il (ADP) cw;gj;jp 
nra;fpwJ mJ nry;ypd; Mw;wy; ehzakhf nray;gLfpwJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R), (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R), (A) f;F rhpahd tpsf;fk; my;y 
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
37. Arrange the order  

a. Glycolysis → ETC → TCA cycle → oxidative phosphorylation  
b. Glycolysis → oxidative phosphorylation → ETC → TCA Cycle  
c. Glycolysis → TCA cycle → ETC → oxidative phosphorylation  
d. TCA cycle → Glycolysis → ETC → oxidative phosphorylation  
e. Answer not known 
thpirgLj;jTk;  
a. fpisf;fhyp]p]; → ETC → TCA Row;rp → Mf;]pfuz gh];Ngl; Nrh;g;G  
b. fpisf;fhyp]p]; → Mf;r]pfuz gh];Ngl; Nrh;g;G → ETC → TCA Row;rp  
c. fpisf;fhyp]p]; → TCA Row;rp → ETC → Mf;]pfuz gh];Ngl; Nrh;g;G  
d. TCA Row;rp → fpisf;fhyp]p]; → ETC → Mf;]pfuz gh];Ngl; Nrh;g;G  
e. tpil njhpatpy;iy 

 
38. When a plant cell put in a hypertonic solution, what will occur? 

a. Plasmapheresis   b. Plasmosis    c. Toxoplasmosis   
d. Plasmolysis   e. Answer not known 
xU jhtu nry;iy i`g;gh;lhdpf; fiurypy; itf;Fk;nghOJ vd;d epfOk;? 
a. gpsh];khnghprp];  b. gpsh];Nkhrp];  c. lhf;Nrhgpsh];Nkhrp]; 
d. gpsh];khiyrp];  e. tpil njhpatpy;iy 
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39. Find the correct Statement about importance of Transpiration. 
1. Supplies water for Photosynthesis. 
2. Transports minerals from soil to all parts of the plant. 
3. Cools the surface of the leaves by evaporation. 
4. Keeps the cells turgid, hence, maintains their shape. 
a. 1, 2, 3, 4 correct   b. 1, 2 incorrect 3, 4 correct 
c. 3 correct 1, 2, 4 incorrect  d. 1, 2, 3 correct 4 incorrect 
e. Answer not known 
ePuhtpg;Nghf;fpd; Kf;fpaj;Jtk; gw;wpa rhpahd thf;fpaq;fis fz;Lgpbf;fTk;  
1. xspr;Nrh;f;iff;fhd ePiu toq;FfpwJ 
2. fdpkq;fs; jhtuj;jpd; midj;Jg; gFjpfSf;Fk; nry;y cjTfpwJ 
3. ,iyfspd; Nkw;gug;G Fsph;r;rpahf ,Uf;f cjTfpwJ 
4. nry;fs; tpiwg;Gj;jd;ikAld; ,Uf;fr; nra;J mtw;wpd; tbtk; khwhky; ,Uf;f 

cjTfpwJ.  
a. 1, 2, 3, 4 rhp   b. 1, 2 rhpay;y 3, 4 rhp  
c. 3 rhp, 1, 2, 4 rhpay;y  d. 1, 2, 3 rhp 4 rhpay;y  
e. tpil njhpatpy;iy 

 
40. Find the natural auxins 

a. Phenyl Acetic Acid (PAA)  b. Indole 3 Acetonitrile (IAN) 
c. Indole - 3 - Acetic Acid (IAA)  d. All of these 
e. Answer not known 
,aw;if Mf;rpd;fis fz;Lgpb 
a. gpidy; mrpbf; mkpyk; (PAA)    b. ,z;Nlhy; 3 mrpNlhiel;iuy; (IAN)  
c. ,z;Nlhy; 3 – mrpl;bf; mkpyk; (IAA)  d. ,it midj;Jk 
e. tpil njhpatpy;iy 

 
41. Bolting in plant induces by 

a. Gibberellins   b. Auxins   c. Ethylene   
d. Abscisic Acid   e. Answer not known 
jhtuq;fspy; Nghy;bq; (Bolting) I J}z;LtJ 
a. [pg;uypd;fs;   b. Mf;rpd;fs;   c. vj;jpypd;    
d. mg;rprpf; mkpyk;   e. tpil njhpatpy;iy 

 

42. _________ induces bud dormancy towards the approach of winter in tress like birch. 
a. Abscisic Acid   b. Auxins   c. Cytokinins   
d. Gibberellins   e. Answer not known 
Fsph;fhyq;fspd; NghJ gph;r; Nghd;w kuq;fspy; _______ nkhl;L cwf;fj;ij 
J}z;LfpwJ.  
a. mg;rprpf; mkpyk;   b. Mf;rpd;fs;  c. irl;Nlhifdpd;fs;  
d. [pg;uy;ypd;fs;    e. tpil njhpatpy;iy 

 

43. Match the following:  
 Vegetative reproduction   Plant organism  

A. Fragmentation    1. Amoeba 
B. Fission     2. Planaria  
C. Budding     3. Yeast  
D. Regeneration    4. Spirogyra  
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A B C D 
a. 4 1 2 3  
b. 1 4 3 2  
c. 4 1 3 2  
d. 1 4 2 3 
e. Answer not known 
nghUj;Jf:  
cly ,dg;ngUf;fk;   jhtuk;  
A. Jz;lhjy;    1. mkPgh  
B. gpsj;jy;    2. gpsNdhpah 
C. nkhl;L tpLjy;   3. <];l; 
D. ,og;G kPl;ly;   4. ];igNuhifuh  
 A B C D 
a. 4 1 2 3  
b. 1 4 3 2  
c. 4 1 3 2  
d. 1 4 2 3 
e. tpil njhpatpy;iy 

 
44. Find the correct statement about Asexual reproduction  

1. It occurs by spore formation  
2. This is the most common method of asexual reproduction in fungi and bacteria.  
3. During spore formation a structure called sporangium develops from the fungal 

hypha. 
a. 1, 2, 3 incorrect   b. 1, 2, 3 correct   c. 1, 2, correct 3 incorrect  
d. 1, 3 correct 2 incorrect  e. Answer not known 
ghypyh ,dg;ngUf;fj;ij gw;wpa rhpahd thf;fpaq;fis fz;Lgpb.  
1. ,J tpijj;Jfs;fs; (Spores) %yk; eilngWfpwJ.  
2. ghypyh ,dg;ngUf;fk; ngUk;ghYk; G+Q;irfs; kw;Wk; ghf;Bhpahf;fspy; 

eilngWfpwJ.  
3. tpijj;Jfs;fs; cUthf;fj;jpd;nghOJ tpj;jfk; (];NghuhQ;rpak;) 

vd;wiof;fg;gLk; mikg;G G+Q;ir ,ioapypUe;J Njhd;WfpwJ.  
a. 1, 2, 3 rhpay;y  b. 1, 2, 3 rhp   c. 1, 2 rhp 3 rhpay;y  
d. 1, 3 rhp 2 rhpay;y  e. tpil njhpatpy;iy 

 
45. Phenotypic ratio of Mendel's Monohybrid cross in pea plant is _______. 

a. 3 : 1  b. 1 : 1  c. 2 : 1  d. 1 : 2 : 1  e. Answer not known 
nkz;lypd; xU gz;Gf; fyg;G Ma;tpy; gl;lhzpj;jhtuj;jpd; Gwj;Njhw;w tpfpjk; 
_________. 
a. 3 : 1  b. 1 : 1  c. 2 : 1  d. 1 : 2 : 1  e. tpil njhpatpy;iy 

 
46. Arrange the order 

a. Nucleic acid → DNA → chromosome → Gene  
b. Nuclei acid →DNA → Gene → Chromosome  
c. Nucleic acid → Gene → DNA → Chromosome  
d. Nucleic acid → Chromosome → Gene → DNA  
e. Answer not known 
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thpirg;gLj;jTk;  
a. epA+f;spf; mkpyk; → DNA → FNuhNkhNrhk; →  [Pd;  
b. epA+f;spf; mkpyk; → DNA → [Pd; → FNuhNkhNrhk;  
c. epA+f;spf; mkpyk; →  [Pd; → DNA → FNuhNkhNrhk;  
d. epA+f;spf; mkpyk; → FNuhNkhNrhk; →  [Pd; → DNA  
e. tpil njhpatpy;iy 

 
47. DNA is a large molecule consisting of Millions of _______. 

a. Amino Acid   b. Fatty Acid    c. Nucleotide    
d. Nucleoside   e. Answer not known 
DNA vd;gJ kpy;ypad; fzf;fhd ______ fis cs;slf;fpa kpfg;nghpa %yf;$W 
MFk;  
a. mkpNdh mkpyk;  b. nfhOg;G mkpyk;  c. epA+f;spNahilL   
d. epa+f;spNahirL  e. tpil njhpatpy;iy    

 

48. When was IR – 8 first introduced in Philippines and India?  
a. 1960 b. 1964 c. 1965  d. 1966  e. Answer not known  
vg;nghOJ IR – 8 Kjy; Kjypy; gpypg;igd;]; ehl;bYk; ,e;jpahtpYk; mwpKfk; 
nra;ag;gl;lJ?  
a. 1960 b. 1964 c. 1965  d. 1966  e. tpil njhpatpy;iy 

 

49. Phaseolus mungo was introduced from _________. 
a. USA  b. Mexico   c. China   
d. Japan   e. Answer not known 
NgrpNahy]; Kq;Nfh vd;w cSe;J ufk; _______ y; ,Ue;J mwpKfk; nra;ag;gl;lJ. 
a. USA  b. nkf;rpNfh   c. rPdh  
d. [g;ghd;   e. tpil njhpatpy;iy 

 

50. The Chipko movement originated in the ________ district of Uttarakhand.  
a. Uttarkashi  b. Champawat   c. Almora    
d. Chamoli   e. Answer not known 
cj;jufhz;l; khepyj;jpy; cs;s _______ vd;Dk; khtl;lj;jpy; rpg;Nfh ,af;fk; 
Njhd;wpaJ. 
a. cj;jh;fhrp  b. rk;ghtj;   c. my;Nkhuh   
d. rhNkhyp   e. tpil njhpatpy;iy 

 

51. Whose photo book on wildlife titled "The best of Wildlife moments" was published 
in November 2014? 
a. Rathna Ramasamy b. Rekha Ramasamy  c. Ranjana Ramasamy 
d. Rathika Ramasamy  e. Answer not known 
ahUila Gifg;glj;njhFg;G "td caphpdq;fspd; rpwe;j jUzq;fs; " vd;Dk; 
jiyg;gpy; etk;gh; 2014k; Mz;L ntspaplg;gl;lJ?  
a. uj;dh uhkrhkp  b. Nuf;fh uhkrhkp    c. uQ;rdh uhkrhkp  
d. uhjpfh uhkrhkp   e. tpil njhpatpy;iy 

 

52. Consider the following statements  
Assertion (A) : Soil erosion causes a significant loss of humus, nutrients and decrease 
the fertility of soil.  
Reason (R) : The top layer of soil contain humus and mineral salts, which are vital 
for the growth of plants.  
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a. Both (A) and (R) are correct  and (R) is the correct explanation to (A). 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false  
d. (A) is false but (R) is true 
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs; 
$w;W (A) : kz;zhpg;gpd; fhuzkhf kz;zpd; kl;F> Cl;lg; nghUl;fs;> tsk; 
Mfpait ntFthff; Fiwe;J kz; tsj;ij FiwfpwJ  
fhuzk; (R): kz;zpd; NkyLf;F> kl;fpa ,iy jiofs;> kw;Wk; jhJ cg;Gfs; 
Kjypa jhtuq;fs; tsh;r;rpailaj; Njitahd mtrpa nghUl;fis nfhz;Ls;sJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R), (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhpay;y NkYk; (R), (A) f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 

53. Tehri Dam was built across _________ river.  
a. Bhagirathi   b. Beas     c. Satluj   
d. Ghaghara    e. Answer not known 
Nl`;hp mizf;fl;L __________ Mw;wpd; FWf;Nf fl;lg;gl;Ls;sJ. 
a. gh`pujp   b. gPah];    c. rl;y[;   
d. fhf;uh    e. tpil njhpatpy;iy 

 

54. Who demonstrated the infectious nature of Tobacco mosaic virus using sap of 
mosaic Leaves?  
a. W.M. Stanley  b. Adolf Mayer    c. M.W. Beijierink   
d. Dimitry Ivanowsky  e. Answer not known 
ahh; Gifapiy Njky; Neha; iturpd; njhw;Wj;jd;ikia> Njky; ghjpj;j 
,iyr;rhw;iwg; gad;gLj;jp tpsf;fpdhh;?  
a. W.M. ];lhd;yp  b. mlhy;g; Nkah;    c. M.W. n[a;[phpq;f;  
d. bkpl;hp Ithd;];fp e. tpil njhpatpy;iy 

 

55. Match the following:  
 Scientist     System of classification  

A. Carl Linnaeus    1. Four kingdom 
B. Ernst Haeckel   2. Five kingdom  
C. Copeland     3. Two kingdom  
D. R.H. Whittaker    4. Three Kingdom  
 A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 1 4 3 2 
e. Answer not known  
nghUj;Jf:  
mwptpayhsh;fs;    tifg;ghl;L Kiwfs;  
A. fhh;y; ypd;Nda];  1. ehd;F ngUk;gphpT  
B. Vh;nd];l; n`f;Nfy;  2. Ie;J ngUk;gphpT  
C. Nfhg;Nyz;l;   3. ,uz;L ngUk;gphpT  
D. R.H. tpl;lhf;nfh;   4. %d;W ngUk;gphpT  
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 A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 1 4 3 2 
e. tpil njhpatpy;iy  

 
56. Who coined the term Bacterim?  

a. Robert Koch   b. C.G. Ehrenberg  c. Christian Gram   
d. David H. Bergy   e. Answer not known 
ghf;Bhpak; vd;w nrhy;iy Kjypy; gad;gLj;jpath; ahh;?  
a. uhgh;l; Nfhf;  b. C.G. v ;̀ud; ngh;f;  c. fpwp];bad; fpuhk;  
d. Nltpl; H. ngh;[p  e. tpil njhpatpy;iy 

 
57. Match the following: 

A. Green Sulphur Bacteria    1. Rhodospirillum 
B. Purple Sulphur Bacteria    2. Chlorobium 
C. Purple Non Sulphur Bacteria   3. Chromatium  
D. Capnophilic Bacteria    4. Campylobacter 
 A B C D 
a. 2 3 4 1  
b. 3 2 1 4 
c. 2 3 1 4 
d. 3 2 4 1  e. Answer not known 
nghUj;Jf:  
 gFjp I     gFjp II 
A. gRk; fe;jf ghf;Bhpah   1. NuhNlh];ighpy;yk;  

B. ,sQ;rptg;G fe;jf ghf;Bhpah   2. FNshNuhgpak;  
C. ,sQ;rptg;G fe;jfk; rhuh ghf;Bhpah 3. FNuhNk~pak;  
D. Nfg;Ndh/gpypf; ghf;Bhpah   4. Nfk;igNyhghf;lh;  
 A B C D 
a. 2 3 4 1  
b. 3 2 1 4 
c. 2 3 1 4 
d. 3 2 4 1  e. tpil njhpatpy;iy 

 
58. Match the following: 

Name of the Disease    Bacteria 
a. Bacterial Blight     1. Xanthomonas Citri  
b. Fire blight     2. Erwinia amylovora 
c. Soft rot      3. Erwinia Caratovora  
d. Citrus canker     4. Xanthomonas oryzae  
 A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 2 4 3 1 
d. 2 4 1 3  e. Answer not known 
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nghUj;Jf:  
Nehapd; ngah;    Neha;f;fhuzp  
A. ghf;Bhpaj;jhy; Vw;gLk; ntg;G Neha;  1. rhe;NjhNkhd]; rpl;hp 
B. jPntg;G Neha;     2. vh;tpdpah mikNyhNthuh 
C. nkd; mOfy;     3. vh;tpdpah Nful;NlhNthuh  
D. vYkpr;ir jpl;L Neha;    4. rhe;NjhNkhd]; xiuNr 

A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 2 4 3 1 
d. 2 4 1 3 
e. tpil njhpatpy;iy 

   
59. How many pairs are correctly matched 

Anti-Biotic   Diseases 
1. Streptomycin  - Tuberculosis 
2. Aureomycin  - Typhoid fever       
3. Chloromycetin   - Syphilis  
4. Bacitracin    - Whooping Cough  
a. One pair   b. Two pairs   c. Three pairs 
d. All pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 

 caph;vjph;g;nghUs;  Neha;fs;  
1. ];l;nug;Nlhikrpd;  - vYk;GUf;fp Neha;  
2. MhpNahikrpd;  - ilg;gha;L fha;r;ry;  
3. FNshNuhikrpl;bd; - rpgpyp]; 
4. Ngrpl;uhrpd;   - ff;Fthd; ,Uky;  
a. xU ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. midj;J ,izfs; e. tpil njhpatpy;iy 
 

60. Alcohols and acetones are prepared from molasses by fermentation activity of the 
anaerobic bacterium, which name is  
a. Clostridium acetobutylicum   b. Clostridium tertium 
c. Bacillus megatherium     d. Micrococcus candicanes    
e. Answer not known 
fhw;Wzh Rthr ghf;Bhpaq;fs; nty;yg;ghfpypUe;J nehjpj;jy; top mrpl;Nlhd;> 
My;f`hy; jahhpf;f cjTfpwJ. mjd; ngah; ________. 
a. fpsh];l;bhpbak; mrpl;NlhgpA+l;bypf;fk;  b. fpsh];l;bhpbak; nlh;~pak;  
c. Ngrpy;y]; nkfhjPhpak;     d. ikf;NuhNfhf;f]; Nfz;bfd;];  
e. tpil njhpatpy;iy 

 
61. “Pruteen” is a single cell protein derived from which bacteria? 

a. Methylophilus methylotrops  b. Ralstonia   c. Halobacterium   
d. Methanobacterium     e. Answer not known 
xU nry; Gujkhd 'G&l;bd;' ve;j ghf;Bhpaj;jpypUe;J ngwg;gLfpwJ? 
a. nkj;jpNyh/gpy;y]; nkj;jpNyhbuhg]; b. uh];Nlhdpah  
c. `hNyh ghf;Bhpak;    d. nkj;jNdh ghf;Bhpak;  
e. tpil njhpatpy;iy 
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62. Who is the father of Indian Mycology? 

a. P A Micheli  b. E J Butler    c. Jayant Vishnu Narlikar     
d. Satyendra Nath Bose  e. Answer not known 
,e;jpag; G+Q;irapaypd; je;ij ahh;?  
a. P A ikr;rpyp  b. E.J. gl;yh;    c. n[ae; tp~;Z ehh;ypafh; 
d. rj;jpNae;ju ehj; Ngh]; e. tpil njhpatpy;iy 

 
63. Ergotamine produced by Claviceps purpurea is used as  

a. Vasodilators   b. Vasoconstrictors    c. Antibiotic    
d. Antiemetics     e. Answer not known 
fpshtpnrg;]; gh;g;G+hpahtpypUe;J vhpfhl;likd; ngwg;gLfpwJ. ,J _______ kUe;jhfg; 
gad;gLj;jg;gLfpwJ. 
a. ,uj;jf; Foha; tphptilar; nra;Ak;  b. ,uj;jf; Foha; RUq;fr; nra;Ak;  
c. caph;vjph;g;nghUs;    d. the;jpalf;fp  
e. tpil njhpatpy;iy 

 
64. Give an example of dermatophytes fungi which cause infection in skin  

1. Trichophyton   2. Tinea  
3. Microsporum   4. Epidermophyton  
a. 1, 3, 4 correct 2 incorrect   b, 1, 2, 3, 4 correct  
c. 1, 2 correct 3, 4 incorrect   d. 1, 4 correct 2, 3 incorrect   
e. Answer not known 
Njhypy; Neha; njhw;Wjy; Vw;gLj;jf; $ba nlh;Nkhigl;fs; G+Q;irf;F vLj;Jf;fhl;L 
jUf.  
1. biuNfh/igl;lhd;  2. bdpah 
3. ikf;Nuh];Nghuhk;   4. vgpnlh;Nkhigl;lhd;  
a. 1, 3, 4 rhp 2 rhpay;y  b. 1, 2, 3, 4 rhp 
c. 1, 2, rhp> 3, 4 rhpay;y  d. 1, 4 rhp 2, 3 rhpay;y  
e. tpil njhpatpy;iy 
 

65. Find the correct statements. 
1. The symbiotic association between algae and fungi is called lichens 
2. The algal partner is called phycobiont or photobiont  
3. The fungal partner is called Mycobiont  
a. 1, 2, 3 incorrect  b. 1 correct 2, 3 incorrect   c. 1, 2, 3 correct   
d. 1, 2 correct 3 incorrect  e. Answer not known 
rhpahd thf;fpaq;fisf; fz;Lgpb.  
1. ghrpfs; kw;Wk; G+Q;irfSf;fpilNa Vw;gLk; xUq;Faphp mikg;gpw;F iyf;nfd;fs; 

vd;W ngah;.  
2. ,jpy; ghrp cWg;gpdh; ghrp caphp my;yJ g+Q;ir caphp vd;wiof;fg;gLfpwJ.  
3. G+Q;ir cWg;gpdh; ikf;Nfhigahd;l; vd;wiof;fg;gLfpwJ 
a. 1, 2, 3 rhpay;y   b. 1 rhp 2, 3 rhpay;y   c. 1, 2, 3 rhp   
d. 1, 2 rhp 3 rhpay;y  e. tpil njhpatpy;iy 

   
66. Consider the following statements 

Assertion (A): Lichen acting as pioneers in xerosere  
Reason (R):   Lichens secrete organic acids like which corrodes the rock surface and 
helps in weathering of rocks   
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a. Both A and R are correct and R is the correct explanation to A 
b. Both A and R are correct but R is not the correct explanation to A 
c. A is the true but R is false 
d. A is false but R is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;.  
$w;W (A) : iyf;fd;fs; (rPNuhrPh;) vDk; tws;epyj; jhtu topKiw tsh;r;rpapy; 
Kd;Ndhb caphpdq;fshfj; jpfo;fpd;wd.  
fhuzk; (R): iyf;fd;fs; ghiwfs; kPJ gbe;J thOk;nghOJ Mf;rhypf; mkpyk; 
Nghd;w fhpk mkpyq;fisr; Rug;gjhy; ghiwfspd; jsk; mhpf;fg;gl;L kz; cUthf 
cjTfpwJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y 
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp 
e. tpil njhpatpy;iy 

 
67. Match the following 

Algae     Uses 
A. Enteromorpha   1. Food 
B. Gigartina    2. Agar Agar 
C. Chondrus crispus  3. Carrageenan 
D. Ascophyllum   4. Alginate 
 A B C D  
a. 1 2 3 4   
b. 2 1 3 4 
c. 3 1 2 4 
d. 4 1 2 3 e. Answer not known 
nghUj;Jf. 
ghrpfs;    gad;fs; 
A. vd;bNuhkhh;gh   1. czT 
B. [pfhh;bdh    2. mfhh; mfhh; 
C. fhd;l;u]; fphp];g];  3. Nfuh[pdpd; 
D. M];Nfhgpy;yk;   4. my;[pNdl; 
 A B C D  
a. 1 2 3 4   
b. 2 1 3 4 
c. 3 1 2 4 
d. 4 1 2 3 e. tpil njhpatpy;iy 

 
68. The success and dominance of vascular plants is due to the development of 

I. Extensive root system 
II. Efficient conducting tissues 
III. Cuticle to prevent desiccation 
IV. Stomata for effective gaseous exchange 
a. I, II, correct III, IV incorrect  b. I, II, III, IV correct 
c. I, II, III correct IV incorrect  d. I, II, IV correct III incorrect 
e. Answer not known 
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th];Fyhh; jhtuq;fspd; Xq;Fjd;ikf;Fk; ntw;wpfukhd tsh;r;rpf;Fk; fhuzkhdit  
I. gue;J tsh;e;j Nth;j;njhFg;G 
II. jpwd;kpf;f flj;Jj; jpRf;fs; fhzg;gLjy; 
III. cyh;jiyj; jLg;gjw;Fj; fpa+l;bfps; fhzg;gLjy; 
IV. tspg; ghpkhw;wk; jpwk;gl nray;gl ,iyj;Jisfs; fhzg;gLjy; 
a. I, II rhp> III, IV rhpay;y  b. I, II, III, IV rhp  c. I, II, III rhp IV rhpay;y  
d. I, II, IV rhp III rhpay;y  e. tpil njhpatpy;iy 

 
69. Where did Birbal Sanhi institute of Palaebotany locate? 

a. Delhi  b. Kolkata    c. Hyderabad   
d. Lucknow  e. Answer not known 
gPh;gy; ]hdp njhy;jhtu epWtdk; vq;F mike;Js;sJ? 
a. nly;yp  b. nfhy;fj;jh    c. i`j;uhghj;   
d. yf;Ndh  e. tpil njhpatpy;iy 

 
70. Give an example of Biennials plant? 

I. Onion   II. Lettuce  III. Fennel    
IV. Cabbage   V. Spinach 
a. I, II, III correct IV, V incorrect  b. I, IV, V correct II, III incorrect 
c. I, II, III, IV, V correct   d. II, III, IV, V correct I incorrect 
e. Answer not known 
,UgUtj; jhtuq;fSf;F vLj;Jf;fhl;L jUf? 
I. ntq;fhak;    II. nyl;a+];   III. Nrhk;G  
IV. Kl;ilf;Nfh];   V. griyf;fPiu 
a. I, II, III rhp IV, V rhpay;y  b. I, IV, V rhp II, III rhpay;y 
c. I, II, III, IV, V rhp   d. II, III, IV, V rhp I rhpay;y 
e. tpil njhpatpy;iy 

 
71. Match the following  
 Pollination    Agent  

A. Cantharophily   1. Moths 
B. Phalaenophily   2. Bees  
C. Mellitophily   3. Butterflies  
D. Psychophily   4. Beetle  
 A B C D 
a. 1 4 3 2  
b. 4 1 2 3  
c. 2 3 1 4  
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf: 
kfue;jNrh;f;if   Kfth; 
A. Nfd;jNuh/gpy;yp  1. me;Jg;G+r;rp 
B. /ghypNdh/gpy;yp  2. NjdPf;fs;  
C. nky;ypNlh/gpy;yp  3. tz;zj;Jg;G+r;rpfs;  
D. irNfh/gpy;yp  4. tz;Lfs;  
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A B C D 
a. 1 4 3 2  
b. 4 1 2 3  
c. 2 3 1 4  
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 
72. Which one of the following is called 4 "O" clock plant? 

a. Pisum sativum   b. Vigna mungo   c. Mirabilis jalapa   
d. Cicer arietinum   e. Answer not known 
gpd;tUtdtw;Ws; ve;jnthd;W 4 kzpj;jhtuk; vd;W miof;fg;gLfpwJ?  
a. igrk; rl;iltk;  b. tpf;dh Kq;Nfh   c. kpuhgpyp]; [yhgh   
d. irrh; mh;l;bdk;  e. tpil njhpatpy;iy 

 
73. Match the following:  

Epistatic interaction     Phenotypic ration  
A. Dominant epistasis     1. 9 : 6 : 1 
B. Recessive epistasis     2. 9 : 7 
C. Complementray Genes     3. 12 : 3 : 1  
D. Duplicate genes with cumulative effect  4. 9 : 3 : 4 
 A B C D  
a. 1 2 3 4 
b. 3 4 2 1  
c. 4 2 1 3  
d. 2 3 4 1 
e. Answer not known  
nghUj;Jf:  
kiwj;jy; ,ilr;nray;    Gwj;Njhw;w tpfpjk;  
A. Xq;F kiwj;jy;     1. 9 : 6 : 1  
B. xLq;F kiwj;jy;     2. 9 : 7  
C. epug;G kugZf;fs;     3. 12 : 3 : 1  
D. ,ul;bg;G kugZf;fSld; $l;L tpisT  4. 9 : 3 : 4  
 A B C D  
a. 1 2 3 4 
b. 3 4 2 1  
c. 4 2 1 3  
d. 2 3 4 1 
e. tpil njhpatpy;iy  

 

74. Who developed the concept of Gene mapping firstly? 
a. C.B. Bridges    b. Robin Holliday  c. T.H. Morgan  
d. Alfred H Sturtevant   e. Answer not known 
kugZ tiuglk; vd;w fUj;jhf;fj;ij Kjd; Kjypy; ahh; cUthf;fpdhh;? 
a. C.B. gphpl;[];   b. uhgpd; `hypNl  c. T.H. Nkhh;fd;  
d. my;/gpul; H. ];lh;Btz;l;  e. tpil njhpatpy;iy 

 

75. Addition of one or more chromosomes to diploid sets are called  ______. 
a. Hyperploidy   b. Hypoploidy   c. Euploidy   
d. Polypolidy   e. Answer not known 



 

22 | Page  044-24339436, 42867555, 9840226187 
 

,Ukbaj; njhFjp FNuhNkhNrhk;fspy; xd;W my;yJ mjw;F Nkw;gl;l 
FNuhNkhNrhk;fs; mjpfhpj;J fhzg;gLk; epiy ______ vd;W miof;fg;gLfpwJ. 
a. kpFkbak;    b. Fiwkbak;   c. nka;kbak;  
d. gd;kbak;    e. tpil njhpatpy;iy 

 
76. Trisomy was reported in which of the following plants? 

a. Nicotiana    b. Pisum   c. Oenothera    
d. All of these   e. Answer not known 
gpd;tUk; jhtuq;fSs; vjdpy; biuNrhkp epiy fz;lwpag;gl;lJ 
a. epf;Nfhl;bahdh  b. igrk;   c. <NdhjPuh   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
77. First crop plant genome sequenced in ____________ 

a. Oryza sativa   b. Vigna mungo  c. Cajanus cajan  
d. Triticum aestivum   e. Answer not known 
_______ y; Kjy; gaph; jhtu kugZ njhifak; njhlh; thpirg;gLj;jg;gl;lJ? 
a. Xiurh rl;ilth  b. tpf;dh Kq;Nfh  c. f[hd]; f[hd;   
d. bhpl;bfk; V];btk;  e. tpil njhpatpy;iy 

 
78. Ecosystem 'as the structural and functional unit of ecology'. who defined this?  

a. Reiter    b. A.G. Tansley    c. Odum    
d. S.A. Forbes   e. Answer not known 
#o;kz;lyk; vd;gJ "#o;epiyapaypd; mikg;G kw;Wk; nray;ghl;L myF" MFk;. 
,ij ahh; tiuaiw nra;jhh;? 
a. nua;l;lh;   b. A.G. lhd;];yp   c. Xlk;  
d. S.A. /Nghh;g;];   e. tpil njhpatpy;iy 

 
79. Which of the following is a formula for Net primary productivity (NPP)? 

a. NPP = GPP   b. NPP = GPP – Respiration  
c. NPP = GPP – Production  d. None of these  
e. Answer not known 
gpd;tUtdtw;Ws; vJ epfu Kjy; epiy cw;gj;jpj;jpwDf;fhd (NPP) #j;jpuk; MFk;.  
a. NPP – GPPP   b. NPP = GPP – Rthr ,og;G  
c. NPP = GPP – cw;gj;jp   d. ,it vJk; ,y;iy  
e. tpil njhpatpy;iy 

 

80. Who proposed the ten percent law? 
a. A.G. Tansley   b. Odum    c. Lindeman    
d. Vernadsky   e. Answer not known 
gj;J tpOf;fhL tpjpia Kd;nkhope;jth; ahh;?  
a. A.G. lhd;];yp   b. Xlk;    c. ypd;bNkd;  
d. nth;dhl;];fp   e. tpil njhpatpy;iy 

 

81. The pyramid of number in a parasite ecosystem is always which shape?  
a. Upright shape   b. Spindle shape  c. Inverted shape    
d. All of these   e. Answer not known 
xl;Lz;zp #oy; kz;lyj;jpd; vz;zpf;if gpukpl; vg;NghJk; ve;j tbtj;jpy; ,Uf;Fk;?  
a. Neuhd tbtk;   b. fjphpio tbtk;   c. jiyfPo; tbtk;   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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82. Decomposition is affected by which of the following climatic factors? 
1. Temperature  2. Soil moisture  3. Soil pH  4. Oxygen  
a. 1, 2, correct 3, 4 incorrect  b. 1, 2, 3 correct 4 incorrect  
c. 1, 2, 3, 4 correct   d. 1, 2, 4 correct 3 incorrect  
e. Answer not known 
gpd;tUk; fhyepiy fhuzpfSs; vJ rpijTWr; nraiy ghjpf;fpwJ?  
1. ntg;gepiy  2. kz; <ug;gjk; 3. kz; pH  4. Mf;rp[d; 
a. 1, 2 rhp 3, 4 rhpay;y  b. 1, 2, 3 rhp 4 rhpay;y  
c. 1, 2, 3, 4 rhp    d. 1, 2, 4 rhp 3 rhpay;y  
e. tpil njhpatpy;iy 

 
83. Match the following:  

Stratification of pond ecosystem   Organism  
A. Littoral Zone     1. Planktons  
B. Limnetic Zone     2. Rooted plants species  
C. Profundal Zone     3. Decomposers  
D. Benthic Zone     4. Heterotrophs  
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 4 3 1 2  
d. 3 2 1 4 
e. Answer not known  
nghUj;Jf: 
Fsr;#o;kz;lyj;jpd; mLf;fikT  caphpdq;fs;  
A. fiuNahu kz;lyk;   1. kpjit caphpfs;  
B. ypk;ndbf; kz;lyk;   2. Nt&d;wpa jhtu rpw;wpdk;  
C. Mo;kpF kz;lyk;    3. kl;Fz;zpfs;  
D. ngd;jpf; kz;lyk;   4. rhh;G+l;l caphpfs;  
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 4 3 1 2  
d. 3 2 1 4  
e. tpil njhpatpy;iy 

 
84. Chipko movement is started by whom in 1974? 

a. Sundarlal Bahuguna  b. Panduranga Hegde 
c. Jadav Molai Payeng  d. Rajendra Singh 
e. Answer not known 
1974 Mk; Mz;L ahuhy; rpg;Nfh ,af;fk; njhlq;fg;gl;lJ?  
a. Re;ju;yhy; gFFdh  b. ghz;Luq;f n`f;Nl 
c. [hjt; Nkhyha; gNaq;  d. uhN[e;jpu rpq;  
e. tpil njhpatpy;iy 

 
85. Which one of the following animals has binocular vision?  

a. Rabbits   b. Goats     c. Birds   
d. Deer   e. Answer not known 
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gpd;tUk; tpyq;FfSs; ve;jnthd;W ,Utpopg; ghh;it ngw;wpUf;fpwJ?  
a. Kay;fs;   b. MLfs;    c. gwitfs;  
d. khd;fs;   e. tpil njhpatpy;iy 

 
86. Which one of the following animals does not drink water at all? 

a. Kangaroo rat   b. Guinean rat   c. Brown rat    
d. Tanezumi rat   e. Answer not known 
gpd;tUk; tpyq;FfSs; ve;jnthd;W vg;NghJk; ePh; mUe;Jtjpy;iy?  
a. fq;fhU vyp  b. Fdpad; vyp  c. gOg;G vyp   
d. jdpRkp vyp   e. tpil njhpatpy;iy 

 
87. Match the following:  

Bacterial Diseases   Mode of transmission  
A. Cholera    1. Contaminated food or water  
B. Pneumonia   2. Contaminated water  
C. Typhoid    3. Inhalation of airborne droplet from sneeze or cough. 
D. Tetanus    4. Contamination of wounds with the bacteria  
 A B C D 
a. 2 3 1 4  
b. 1 2 3 4 
c. 3 2 1 4  
d.  3 1 2 4 
e. Answer not known 
nghUj;Jf: 
ghf;Bhpah Neha;fs;   guTk; Kiw  
A. fhyuh    1. mRj;jkhd czT my;yJ ePh;  
B. epNkhdpah   2. mRj;jkhd ePh;  
C. ilgha;L    3. ,Uky; kw;Wk; Jk;kypd; NghJ ntspg;gLk; fhw;W  

jtisfis Rthrpj;jy;  
D. nll;ld];   4. ghf;Bhpahf;fspdhy; jhf;fg;gl;l fhaq;fs;  
 A B C D 
a. 2 3 1 4  
b. 1 2 3 4 
c. 3 2 1 4  
d.  3 1 2 4 
e. tpil njhpatpy;iy 

 
88. Which of the following diseases caused by virus? 

1. Pneumonia   2. Hepatitis    3. Influenza  
4. Salmonellosis   5. Common cold  
a. 1, 2, 3 correct 4, 5 incorrect  b. 2, 3, 5 correct 1, 4 incorrect  
c. 1, 4, 5 correct 2, 3 incorrect  d. 1, 2 5 correct 3, 4 incorrect  
e. Answer not known 
gpd;tUk; Neha;fSs; vJ itu]pdhy; cUthf;fg;gLfpwJ?  
1. epNkhdpah   2. n`gilb];   3. ,d;G@ad;rh  
4. rhy;NkhNyhrp];  5. rhjhuz rsp  
a. 1, 2, 3 rhp 4, 5 rhpay;y   b. 2, 3, 5 rhp 1, 4 rhpay;y  
c. 1, 4, 5 rhp 2, 3 rhpay;y   d. 1, 2, 5 rhp 3, 4 rhpay;y  
e. tpil njhpatpy;iy 
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89. Which is the vector of African sleeping sickness?  

a. Tsetse fly    b. Fruit fly    c. Horse fly   
d. Crane fly    e. Answer not known 
Mg;hpf;f J}f;f tpahjpapd; Neha;gug;gp vJ?  
a. nrl;rP <f;fs;   b. go <f;fs;   c. Fjpiu <f;fs;   
d. fpNud; <f;fs;   e. tpil njhpatpy;iy 
 

90. Arrange the order  
a. Populations → organisms → communities → ecosystem → biosphere  
b. Organisms → populations → communities → ecosystem → biosphere  
c. Organisms → populations → ecosystem → communities → biosphere  
d. Populations → organisms → communities → ecosystem → biosphere  
e. Answer not known 
thpirg;gLj;jTk;  
a. ,dj;njhif → caphpdk; → rKjhak; → #o;epiy kz;lyk; → caph;f;Nfhsk;  

b. caphpdk; → ,dj;njhif → rKjhak; → #o;epiy kz;lyk; → caph;f;Nfhsk;  
c. caphpdk; → ,dj;njhif → #o;epiy kz;lyk; → rKjhak; → caph;f;Nfhsk;  
d. ,dj;njhif → caphpdk; → rKjhak; → #o;epiykz;lyk; → caph;f;Nfhsk;  
e. tpil njhpatpy;iy 

 

91. Which of the following is the smallest bacterium? 
a. Corynebacterium diphtheria  b. Vibrio cholerae   c. Mycoplasma   
d. Helicobacter pylori   e. Answer not known 
gpd;tUtdtw;Ws; vJ kpfr;rpwpa ghf;Bhpak; MFk;?  
a. fhh;dpghf;Bhpak; bgPj;jPhpNah  b. tpg;Nuh fhyNu  c. ikf;Nfhgpsh];kh  
b. n`ypf;Nfhghf;lh; igNyhhp  e. tpil njhpatpy;iy 

 

92. Which of the following is an example for connective tissue? 
1. Blood    2. Lymph   3. Bone   
4. Adipose tissue   5. Areolar tissue  
a. 1, 2, 3, 4, 5 correct   b. 1, 2, 3 correct 4, 5 incorrect  
c. 1, 4, 5 correct 2, 3 incorrect  d. 1, 2, 3, 4 correct 5 incorrect  
e. Answer not known 
gpd;tUtdtw;Ws; vJ ,izg;Gj;jpRtpw;fhd vLj;Jf;fhl;L MFk;? 
1. ,uj;jk;   2. epzePh;    3. vYk;G  
4. nfhOg;Gj; jpR   5. rpw;wpl ,ioaj; jpR  
a. 1, 2, 3, 4, 5 rhp    b. 1, 2, 3 rhp 4, 5 rhpay;y  
c. 1, 4, 5 rhp 2, 3 rhpay;y  d. 1, 2, 3, 4 rhp 5 rhpay;y  
e. tpil njhpatpy;iy 

 

93. Find the correct statement: 
1. During inhalation the muscles of the diaphragm contract  
2. During exhalation the muscles of the diaphragm relax 
a. 1, 2 correct   b. 1, 2 incorrect   c. 1 correct 2 incorrect    
d. 1 incorrect 2 correct  e. Answer not known 
rupahd thf;fpaq;fis fz;Lgpb: 
1. cl;Rthrj;jpd; cjutpjhdj; jirfs; RUq;Ffpd;wd.  
2. ntspr;Rthrj;jpd; nghOJ cjutpjhdj;jirfs; kPl;rpailfpd;wd.  
a. 1, 2 rup   b. 1, 2 rupay;y  c. 1 rup 2 rupay;y  
d. 1 rupay;y 2 rup    e. tpil njhpatpy;iy 
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94. Who coined the term Osmoregulation? 
a. Thomas Say  b. Johan Christian   c. Hober    
d. John Ray      e. Answer not known 
CLguty; xOq;FghL vd;w nrhy;iy ahh; mwpKfg;gLj;jpdhh;?  
a. jhk]; Nra;  b. N[hfd; fphp];l;bad;   c. N`hgh;    
d. [hd; Nu    e. tpil njhpatpy;iy 

 
95. Consider the following statements: 

Assertion (A): Anaerobic respiration releases very little amount of energy  
Reason (R) : Glucose is not completely oxidized in anaerobic respiration 
a. Both A and R are correct and R is the correct explanation of A  
b. Both A and R are correct and R is not the correct explanation to A  
c. A is true but R is false  
d. A is false but R is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;f.  
$w;W (A): fhw;wpy;yh Rthrk; kpf Fiwe;j msT Mw;wiy ntsptpLfpwJ.  
fhuzk; (R) : fhw;wpy;yh Rthrj;jpy; FSf;Nfh]; KOikahf Mf;]pfuzk; 
miltjpy;iy.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk; MFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fk; my;y.  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
96. Give an example for diploblastic animal? 

a. Hydra b. Rabbit c. Human d. Worms  e. Answer not known 
,uz;L fUg;glyq;fisf; nfhz;l caphpfSf;F vLj;Jf;fhl;L jUf? 
a. i`l;uh b. Kay; c. kdpjd; d. GOf;fs;  e. tpil njhpatpy;iy 

 
97. Match the following: 
 Common name   Binominal name 

A. Tape worm   1. Taenia solium 
B. Round worm   2. Ascaris lumbricoides 
C. Earth worm   3. Lampito mauritii 
D. Leech    4. Hirudinaria granulosa 
 A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c. 4 3 2 1 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf:- 
nghJg;ngah;    ,Unrhw;ngah; 
A. ehlhg;GO     1. Bdpah Nrhypak; 
B. cUisg;GO   2. m];fhhp]; Yk;gphpfha;l;]; 
C. kz;GO    3. yhk;gpNlh khhpl;b 
D. ml;il    4. `pUbNdhpah fpuhDNyhrh 
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 A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c. 4 3 2 1 
d. 1 3 2 4 
e. tpil njhpatpy;iy 

 
98. The stinging cells called as Cnidoblast found in which of the following Phyllum? 

a. Porifera   b. Coelenterata     c. Anthropoda    
d.Annelida   e. Answer not known 
rpd;Nlhgpsh];l; vd;W miof;fg;gLk; nfhl;Lk; nry;fs; gpd;tUk; njhFjpfspy; vjpy; 
fhzg;gLfpwJ? 
a. JisAlypfs;  b. FopAlypfs;  c. fZf;fhspfs;   
d. tisjirg;GOf;fs; e. tpil njhpatpy;iy 

 
99. What is the binominal name of State bird of Tamil Nadu? 

a. Chalcophaps indica  b. Panthera tigris  c. Pavo cristatus   
d. Corvus splendens.  e. Answer not known 
jkpo;ehl;bd; khepyg; gwitapd; ,Unrhw;ngah; vd;d? 
a. rhy;Nfhghg;]; ,z;bfh  b. ghd;juh ilfhp];  c. ghNth fphp];Nll]; 
d. fhh;t]; ngyd;nld;];  e. tpil njhpatpy;iy 

 
100. The bone cells are called as _________ 

a. Osteocyte   b. Cardiocyte   c. Chondrocyte  
d. Myocyte   e. Answer not known 
vYk;G nry;fs; __________ vd;W miof;fg;gLfpd;wd. 
a. M];bNahirl;  b. fhh;bNahirl;  c. fhd;l;Nuhirl;  
d. ikNahirl;  e. tpil njhpatpy;iy 

 

101. Which of the following is cord like strong structures that join skeletal muscles to 
bones? 
a. Ligament     b. Lamellae c. Lacuna d. Tendon e. Answer not known 
gpd;tUtdtw;Ws; vJ fapW Nghd;w cWjpahd mikg;G nfhz;L vYk;Gr; rl;lf 
jirfis vYk;GfSld; ,izfpd;wd? 
a. jir ehh;    b. yhnky;yh    c. yhf;Fdh  
d. jir ehz;  e. tpil njhpatpy;iy  

 

102. Find the correct statements: 
1. Human beings have 20 set of milk teeth  
2. Premolar teeth do not erupt in temporary teeth  
3. Human beings have 32 permanent teeth  
4. Milk teeth are called as permanent teeth  
a. 1, 2, 3 correct 4 incorrect   b. 1, 3 correct 2, 4 incorrect  
c. 1, 3, 4 correct 2 incorrect   d. 1, 4 correct 2, 3 incorrect 
e. Answer not known    
rhpahd thf;fpaq;fis fz;Lgpb.  
1. kdpjh;fs; 20 ghy; ,izg;gw;fis ngw;wpUf;fpd;wdh;.  
2. jw;fhypf gy; thpirapy; Kd;filtha; gw;fs; Kisg;gjpy;iy  
3. kdpjh;fs; 32 epue;ju gw;fis ngw;wpUf;fpd;wdh;.  
4. ghy; gw;fs;> epue;ju gw;fs; vd;W miof;fg;gLfpd;wd.  
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a. 1, 2, 3 rhp 4 rhpay;y   b. 1, 3 rhp 2, 4 rhpay;y  
c. 1, 3, 4 rhp 2 rhpay;y   d. 1, 4 rhp 2, 3 rhpay;y  
e. tpil njhpatpy;iy 

 
103. Which of the following is an antibacterial enzyme present in saliva? 

a. Lysozyme     b. Lysosome    c. Peroxisome  
d. Peroxidase     e. Answer not known 
gpd;tUtdtw;Ws; vJ ckpo;ePhpy; cs;s ghf;Bhpahit vjph;f;Fk; nehjp MFk;?  
a. iyNrhirk;   b. iyNrhNrhk;   c. nguhf;rpNrhk;  
d. nguhf;rpNl];    e. tpil njhpatpy;iy 

 
104. Find the correct statements about Liver.  

1. Liver is the largest digestive gland of the body  
2. The right lobe of the liver is larger than left lobe  
3. On the under surface of the liver gall bladder is present  
4. Liver cells secrete bile  
a. 1, 4 correct 2, 3 correct   b. 1, 3 correct 2, 4 incorrect  
c. 1, 2, 4 correct 3 incorrect   d. 1, 2, 3, 4 correct 
e. Answer not known 
 fy;yPuy; gw;wpa rhpahd thf;fpaq;fisf; fz;Lgpb. 
1. clypy; fhzg;gLk; kpfg; nghpa nrhpkhdr; Rug;gp fy;yPuy; MFk;  
2. fy;yPuypd; tyJ fJg;ghdJ ,lJ fJg;igtpl nghpjhdjhFk;  
3. fy;yPuypd; fPo;g;gFjpapy; gpj;jg;igahdJ mike;Js;sJ.  
4. fy;yPuy; nry;fs; gpj;jePiur; Ruf;fpd;wd.  
a. 1, 4 rhp 2, 3 rhpay;y   b. 1, 3 rhp 2, 4 rhpay;y  
c. 1, 2, 4 rhp 3 rhpay;y   d. 1, 2, 3, 4 rhp 
e. tpil njhpatpy;iy  

 
105. The intestinal glands secretes intestinal juice called succus entericus which contains 

which of the following enzyme  
1. Maltase   2. Lactase   3. Sucrase   4. Lipase  
a. 1, 2, 3, 4 correct    b. 1, 4 correct 2, 3 incorrect  
c. 1, 2 correct 3, 4 incorrect   d. 1, 2, 3 correct 4 incorrect  
e. Answer not known 
Fly; Rug;gpfs; rf;f]; vz;l;bhpf]; vd;w rhw;wpidr; Ruf;fpd;wd mjpy; gpd;tUk; 
nehjpfSs; vit fhzg;gLfpd;wd?  
1. khy;Nl];  2. yhf;Nl];  3. Rf;Nu];  4. ypg;Ng];  
a. 1, 2, 3, 4 rhp    b. 1, 4 rhp 2, 3 rhpay;y  
c. 1, 2 rhp 3, 4 rhpay;y  d. 1, 2, 3 rhp  4 rhpay;y  
e. tpil njhpatpy;iy 
 
 

106. The process of purifying blood by an artificial kidney is called __________ 
a. Haemodialysis  b. Peritoneal dialysis    c. CAPD  
d. Haemopoiesis       e. Answer not known 
xh; nraw;if rpWePufj;ijg; gad;gLj;jp ,uj;jkhdJ Rj;jg;gLj;jg;gLfpwJ ,J 
________ vd;W miof;fg;gLfpwJ.  
a. `pNkhilayprp];  b. nghpNlhdpay; ilayprp];   c. CAPD   
d. P̀NkhNgha;rp];   e. tpil njhpatpy;iy 
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107. The process of formation of ova is known as __________ 
a. Spermatogenesis   b. Parthenogenesis    c. Oogenesis   
d. Osteogenesis  e. Answer not known 
fUKl;ilahdJ cUthjy; epfo;Tf;F _______ vd;W ngah;  
a. ];ngh;kl;Nlhn[dprp];  b. ghh;jpNdhn[dprp];  c. Cn[dprp]; 
d. M];bNahn[dprp];  e. tpil njhpatpy;iy 

 
108. Match the following:  
 List I     List II  

A. Endemic Disease  1. AIDS  
B. Epidemic Disease  2. Malaria  
C. Pandemic Disease  3. Influenza 
D. Sporadic Disease  4. Goitre in sub-Himalayan region 
 A B C D 
a. 4 3 1 2  
b. 3 4 1 2 
c. 1 2 3 4 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf:  
gFjp – I    gFjp – II  
A. vz;nlkpf; Neha;  1. va;l;];  
B. vgpnlkpf; Neha;   2. kNyhpah  
C. ghd;nlkpf; Neha;  3. ,d;G@nad;rh  
D. ];nghuhbf; Neha; 4. ,kakiyg; mbthug; gFjpapYs;sth;fSf;F fha;lh;  

Neha;  
 A B C D 
a. 4 3 1 2  
b. 3 4 1 2 
c. 1 2 3 4 
d. 4 3 2 1 
e. tpil njhpatpy;iy 

 

109. Which of the following is inactivated (killed antigen) vaccine?  
a. IPV      b. MMR   c. BCG   
d. Hepatitis B Vaccine   e. Answer not known 
gpd;tUtdtw;Ws; vJ nray;glhj (Md;bn[d; ePf;fg;gl;l) jLg;ghd; MFk;?  
a. IPV     b. MMR    c. BCG  
d. n`g;gill;b]; B jLg;ghd; e. tpil njhpatpy;iy 

 

110. Which of the following malarial protozoan is malignant and fatal?  
a. Plasmodium vivax  b. Plasmodium Malaria  
c. Plasmodium falciparum   d. Plasmodium ovale  
e. Answer not known 
gpd;tUk; kNyhpa GNuhl;NlhNrhthf;fSs; vJ kpfTk; nfhbaJk; capiug; gwpf;ff; 
$baJk; MFk;?  
a. gpsh];Nkhbak; itthf;];  b. gpsh];Nkhbak; kNyhpah  
c. gpsh];Nkhbak; /ghy;]pNguk;  d. gpsh];Nkhbak; XNty;  
e. tpil njhpatpy;iy 
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111. Consider the following statements  
Assertion (A): Leeches can be used to treat cardiovascular diseases.  
Reason (R) : Leeches are effective in increasing blood circulation and breaking up 
blood clots.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct and (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy;nfhs;: 
$w;W (A): ml;ilfis ,uj;j Xl;l kz;lyk; kw;Wk; ,ja Neha;fis Fzg;gLj;j 
cgNahfpf;fyhk;.  
fhuzk; (R):ml;ilfs; ,uj;j ciwitj; jLj;J> ,uj;j Xl;lj;ij tpiuTgLj;Jtjpy; 
nray;jpwd; kpf;fit.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 

112. Consider the following statements:  
Assertion (A) : Matured mammalian RBCS have loss of mitochondria.  
Reason (R) : It allows the RBC to transport all the oxygen to tissues  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct and (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;.  
$w;W (A) : ghY}l;bfspd; Kjph;r;rpaile;j ,uj;j rptg;gZtpy; ikl;Nlhfhz;bhpah 
fhzg;gLtjpy;iy. 
fhuzk; (R): ,J mjpfsT Mf;rp[id jpRf;fSf;F flj;Jtij mDkjpf;fpwJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
 

113. Match the following:  
WBC     Percentage  
A. Neutrophils   1. 60 – 65%  
B. Eosinophils   2. 2 – 3%  
C. Basophils    3. 0.5 – 1.0% 
D. Lymphocytes   4. 20 – 25% 
E. Monocytes   5. 5 – 6%  
 A B C D E 
a. 1 3 2 4 5  
b. 1 5 2 4 3 
c. 1 2 3 4 5  
d. 1 2 5 4 3  e. Answer not known  
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nghUj;Jf:  
WBC     rjtPjk;  
A. epA+l;Nuh/gpy;fs;  1. 60 – 65% 
B. <rpNdh/gpy;fs;   2. 2 – 3% 
C. NgNrh/gpy;fs;   3. 0.5 – 1.0% 
D. ypk;/Nghirl;fs;  4. 20 – 25% 
E. NkhNdhirl;fs;  5. 5 – 6%  
 A B C D E 
a. 1 3 2 4 5  
b. 1 5 2 4 3 
c. 1 2 3 4 5  
d. 1 2 5 4 3 
e. tpil njhpatpy;iy  

 
114. Find the correct statement about vein.  

1. Red in colour  
2. Internal valves are present  
3. All veins carry deoxygenated blood except pulmonary veins.  
4. Deep location in the body 
a. 1, 2, 3, 4 correct    b. 1, 2, 3 correct 4 incorrect  
c. 2, 3, 4 correct 1 incorrect   d. 1, 2, 4 correct 3 incorrect  
e. Answer not known 
rpiu gw;wpa rhpahd thf;fpaq;fis fz;Lgpbf;fTk;  
1. rptg;G epwj;jpid cilaJ 
2. cs;sPL thy;Tfs; cz;L  
3. EiuaPuy; rpiuapid jtpu kw;w midj;J rpiufSk; Mf;rp[d; Fiwe;j 

,uj;jj;jpid vLj;J nry;fpd;wd.  
4. clypd; Mo;gFjpapy; mike;Js;sJ.  
a. 1, 2, 3, 4 rhp    b. 1, 2, 3 rhp 4 rhpay;y  
c. 2, 3, 4 rhp 1 rhpay;y   d. 1, 2, 4 rhp 3 rhpay;y 
e. tpil njhpatpy;iy  

 
115. Which of the following phylum has closed type of circulatory system?  

a. Arthropods   b. Molluscs    c. Vertebrates    
d. Ascidians   e. Answer not known 
gpd;tUk; tpyq;F njhFjpfSs; vJ %ba tif ,uj;j Rw;Nwhl;l kz;lyj;ij 
ngw;wpUf;fpwJ?  
a. fZf;fhypfs;   b. nky;Ylypfs;   c. KJ nfYk;gpfs;    
d. mrpbad;fs;   e. tpil njhpatpy;iy 

 
116. Consider the following statements:  

Assertion (A) : The left and right ventricles have thick walls.  
Reason (R) : The ventricles have to pump out blood with force away from the heart.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
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gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;. 
$w;W (A) : ,lJ kw;Wk; tyJ ntz;l;hpf;fpspd; Rth;fs; jbj;J fhzg;gLfpd;wd  
fhuzk; (R): ntz;l;hpf;fps;fs; ,jaj;jpypUe;J mjpf tpirAld; ,uj;jj;ij ce;jp 
nrYj;Jfpd;wd.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
117. Which of the following valve is located between left auricle and left ventricle?  

a. Tricuspid valve   b. Bicuspid valve  c. Semilunar valve   
d. Ball valve    e. Answer not known 
gpd;tUk; thy;TfSs; vJ ,lJ Mhpf;fs; kw;Wk; ,lJ ntz;l;hpf;fSf;F ,ilapy; 
mike;Js;sJ?  
a. %tpjo; thy;T   b. <hpjo; thy;T   c. miur;re;jpu thy;T   
d. ge;J thy;T   e. tpil njhpatpy;iy 

 

118. The human heart is ___________ in nature.  
a. Myogenic    b. Neurogenic    c. Nephrogenic   
d. Hepatogenic   e. Answer not known 
kdpj ,jak; _______ tifiar; Nrh;e;jJ.  
a. ikNahn[dpf;   b. epA+Nuhn[dpf;    c. neg;Nuhn[dpf;  
d. n`g;gl;Nlhn[dpf;  e. tpil njhpatpy;iy 

 

119. Where is SA node situated in the heart?  
a. Right atrium   b. Left atrium   c. Right ventricle   
d. Left ventricle   e. Answer not known 
,jaj;jpy; SA fZ vq;Nf mike;Js;sJ?  
a. tyJ Vl;hpak;   b. ,lJ Vl;hpak;   c. tyJ ntz;lhpf;fps;  
d. ,lJ ntz;l;hpf;fps; e. tpil njhpatpy;iy 

 

120. Consider the following statements: 
Assertion (A) : The first heart sound LUBB is of longer duration  
Reason (R) : It is produced by the closure of the tricuspid and bicuspid valves after 
begining of ventricular systole.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs; 
$w;W (A) : ,jaj;jpd; Kjy; xypahd "yg;" ePz;l Neuj;jpw;F xypf;Fk;.  
fhuzk; (R): ntz;l;hpf;Fyhh; rp];Nlhypd; Muk;g epiyapy; %tpjo; kw;Wk; <hpjo; 
thy;Tfs; %Ltjhy; ,e;j xyp cz;lhfpwJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 
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121. In an healthy adult during normal resting condition systolic and diastolic blood 
pressure is expressed as __________.  
a. 100 mm / 60 mm Hg   b. 110 mm / 75 mm Hg 
c. 115 mm / 75 mm Hg  d. 120 mm / 80 mm Hg  
e. Answer not known 
xU MNuhf;fpakhd kdpjhpy; xa;thf cs;s epiyapy; rp];Nlhypf; kw;Wk; 
la];Nlhypf; mOj;jkhdJ _______ mstpy; fhzg;gLfpwJ.  
a. 100 mm / 60 mm Hg   b. 110 mm / 75 mm Hg 
c. 115 mm / 75 mm Hg  d. 120 mm / 80 mm Hg   
e. tpil njhpatpy;iy 

 
122. The concept of blood grouping was developed by __________.  

a. Karl Landsteiner   b. His     c. William Harvery    
d. Galen    e. Answer not known 
,uj;j tif gw;wpa Nfhl;ghl;il fz;lwpe;jth; __________. 
a. fhuy; Nyz;l;];Bdh; b. `p];    c. tpy;ypak; `h;tp   
d. Nfyd;    e. tpil njhpatpy;iy 

 
123. Which of the following acts as insulator and ensures rapid transmission of nerve 

impulses?  
a. Cyton    b. Myelin sheath    c. Dendrites    
d. Axoplasm    e. Answer not known 
gpd;tUtdtw;Ws; vJ xU ghJfhg;G ciwahfr; nray;gl;L euk;G J}z;ly;fs; kpf 
tpiuthf flj;jg;glcjTfpwJ?  
a. irl;lhd;    b. ikaypd; ciw    c. nlz;l;iul;Lfs;  
d. Mf;Nrhgpshrk;  e. tpil njhpatpy;iy 

 
124. Brain is covered by three connective tissue membrane which is called as _________.  

a. Meninges   b. Mesentery    c. Pericardium   
d. Peritoneum   e. Answer not known 
%isahdJ %d;W ghJfhg;ghd ciwfshy; #og;gl;bUf;fpwJ. mit _________ 
vd;W miof;fg;gLfpwJ.  
a. nkdpQ;r];   b. kpnrd;l;hp   c. nghpfhh;bak;    
d. nghpl;Nlhdpak;   e. tpil njhpatpy;iy 

 
125. Match the following:  
 List – I     List – II  

A. Duramater    1. Middle membrane  
B. Arachnoid membranes  2. Outermost membrane  
C. Piamater     3. Innermost membrane  
D. White matter    4. Presence of myelin sheath  
E. Gray matter    5. Absence of myelin sheath  
 A B C D E 
a. 1 2 3 5 4  
b. 2 1 3 5 4  
c. 2 1 3 4 5  
d. 1 3 2 4 5 
e. Answer not known  
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nghUj;Jf:  
 gFjp – I    gFjp - II  
A. bA+uhNkl;lh;   1. eLg;Gw ciw  
B. muf;fdha;L ciw   2. ntspg;Gw ciw  
C. igah Nkl;lh;   3. cl;Gw ciw  
D. nts;is epwg; gFjp  4. ikaypd; ciw cs;sJ 
E. rhk;gy;epw gFjp    5. ikaypd; ciw mw;wJ 
 A B C D E 
a. 1 2 3 5 4  
b. 2 1 3 5 4  
c. 2 1 3 4 5  
d. 1 3 2 4 5 
e. tpil njhpatpy;iy  

 
126. Two cerebral hemispheres are interconnected by thick band of nerve fibers called 

_________.  
a. pons varolii  b. corpus callosum   c. cerebral cortex   
d. cerebral medulla   e. Answer not known 
ngU%isapd; miuf;Nfhsq;fs; %isapd; mbg;gFjpapy; ________ vd;Wk; 
mlh;j;jpahd euk;Gj;jpRf;fw;iwahy; ,izf;fg;gl;Ls;sd.  
a. ghd;]; tNuhyp  b. fhh;g]; fNyhrk;  c. ngU%isg; Gwzp  
d. ngU%is nkLy;yh e. tpil njhpatpy;iy 
 

127. Who is the father of endocrinology?  
a. Thomas Addison   b. W.M. Bayliss   c. E.H. Starling   
d. Wormolt went   e. Answer not known 
ehskpy;yhr; Rug;gp kz;lyj;jpd; je;ij ahh;?  
a. jhk]; mbrd;  b. W.M. Nga;yp];    c. E.H. ];lhh;ypq;  

d. thh;khy;l; ntz;l;  e. tpil njhpatpy;iy 
 

128. Which of the following is secreted by Adenohypophysis?  
1. GH  2. PRL  3. GTH  4. ADH  5. FSH 
a. 1, 2, 3, 4, 5 correct   b. 1, 2, 3, 5 correct 4  incorrect  
c. 1, 2, 3 correct 4, 5 incorrect  d. 1, 3, 5 correct 2, 4 incorrect  
e. Answer not known 
gpd;tUtdtw;Ws; vJ mbNdhi`g;Nghig]prhy; Ruf;fg;gLfpwJ?  
1. GH  2. PRL  3. GTH  4. ADH  5. FSH 
a. 1, 2, 3, 4, 5 rhp    b. 1, 2, 3, 5 rhp 4  rhpay;y  
c. 1, 2, 3 rhp 4, 5 rhpay;y   d. 1, 3, 5 rhp 2, 4 rhpay;y  
e. tpil njhpatpy;iy 

 
129. Oversecretion of growth hormone leads to ________ in children.  

a. Dwarfism    b. Gigantism    c. Acromegaly  
d. Cretinism    e. Answer not known 
Foe;ijfspy; tsh;r;rp `hh;Nkhd; mjpfkhf Ruj;jy; fhuzkhf _________ 
milthh;fs;.  
a. Fs;sj;jd;ik   b. mRuj;jd;ik   c. mf;Nuhnkfyp   
d. fphpl;bdprk;   e. tpil njhpatpy;iy 
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130. Melatonin is a hormone produced by which gland?  

a. Adenohypophysis  b. Ceruminous gland   c. Neurohypophysis  
d. Pineal gland   e. Answer not known 
nkyNlhdpd; `hh;Nkhd; ve;j Rug;gpahy; Ruf;fg;gLfpwJ?  
a. mbNdhi`g;Nghirrp];  b. rpUkpd]; Rug;gp c. epA+Nuhi`g;Nghigrp];  
d. gPdpay; Rug;gp    e. tpil njhpatpy;iy 

 

131. Which of the following helps in the breakdown of glycogen to glucose in the liver?  
a. Insulin    b. Glucagon    c. Melatonin   
d. Melanin    e. Answer not known 
gpd;tUtdtw;Ws; vJ fy;yPuypy; fpisf;Nfh[d; FSf;Nfh]hf khw;wk; mila 
cjTfpwJ?  
a. ,d;Rypd;    b. FSf;Nfhfhd;   c. nkyNlhdpd;    
d. nkydpd;    e. tpil njhpatpy;iy 
 

132. Consider the following statements?  
Assertion (A) : Aldosterone helps to reabsorb sodium ions from the renal tubules.  
Reason (R) : Aldosterone causes increased excretion of potassium ions.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpq;fis fUj;jpy; nfhs;f.  
$w;W (A): my;Nlh];buhd; rpWePuff; Foy;fspy; Nrhbak; madpfspd; kPs;  

cwpQ;RjYf;F cjTfpwJ.  
fhuzk; (R): my;Nlh];buhd; mjpfkhd nghl;lhrpak; madpfs; ntspNawf;  

fhuzkhfpwJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 

133. Flight, Fright, and fight hormone secrets by ________. 
a. Zona glomerulosa  b. Zona Fasciculata  
c. Adrenal medulla    d. Zona reticularis  
e. Answer not known 
rz;il gaKWj;Jk; kw;Wk; gwf;Fk; `hh;Nkhd;fis _______ ruf;fpwJ.  
a. Nrhdh FshnkUNyhrh   b. Nrhdh /gh]pFNyl;lh  
c. ml;hpdy; nkLy;yh   d. Nrhdh nubFyhhp];  

e. tpil njhpatpy;iy 
 

134. Leydig cells secrete ___________.  
a. Progesterone   b. Estrogen    c. Testosterone    
d. Corticosterone   e. Answer not known 
yPbf; nry;fs; ________ I Ruf;fpwJ.  
a. GNuhn[];buhd;  b. <];l;Nuh[d;   c. nl];Nlh];Buhd;   
d. fhh;l;bNfh];Buhd;  e. tpil njhpatpy;iy 
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135. Acrosome contains ________ enzyme that helps the sperm to enter the ovum during 
fertilization.  
a. Acetylcholinesterase   b. Helicase    c. Polymerase   
d. Hyaluronidase    e. Answer not known 
fUTWjypd;NghJ tpe;JthdJ mz;lj;jpDs; Eiotjw;Fj; Njitahd _________ 
vd;Dk; nehjpia mf;NuhNrhk; nfhz;Ls;sJ.  
a. mrpl;ily;nfhypdp];l;Nu]; b. n`ypf;Nf];  c. ghypnkNu];  
d. i`ahYuhdpNl];   e. tpil njhpatpy;iy 

 

136. Fertilization in human is internal and occurs in the _______ of the fallopian tube.  
a. Isthmus    b. Infundibulum    c. Fimbriae   
d. Ampulla    e. Answer not known 
kdpjhpy; mff;fUTWjyhdJ gpwg;GWg;Gg; ghijapy; cs;s mz;lehsj;jpd; 
_________ gFjpapy; eilngWfpwJ.  
a. ,];j;k];   b. ,d;gz;bGyk;   c. gpk;gphpNa   

d. Mk;Gy;yh   e. tpil njhpatpy;iy 

 
137. The first fluid which is released from the mammary gland after child birth is called 

as _______. 
a. Colostrum   b. Prolactin c. Lactin  d. Lactase  e. Answer not known 
Foe;ij gpwg;gpw;Fg; gpwF ghy; Rug;gpapypUe;J Kjd; Kjypy; ntsptUk; ghy; 
_________ vdg;gLk;.  
a. nfhy];l;uk;  b. GNuhyhf;bd;   c. yhf;bd;   
d. yhf;Nl];    e. tpil njhpatpy;iy 

 

138. Match the following:  
 List – I     List – II  

A. Male     1. Tubectomy 
B. Female     2. Vasectomy  
C. IUDs    3. Lippe's Loop 
D. Hormonal methods   4. Contraceptive pills  
 A B C D 
a. 2 1 3 4  
b. 1 2 3 4  
c. 4 2 3 1   
d. 3 2 1 4  
e. Answer not known 
nghUj;Jf: 
gFjp – I    gFjp – II  
A. Mz;    1. bA+ngf;lkp  
B. ngz;     2. thnrf;lkp 

C. IUDs    3. ypg;gp]; Y}g;  
D. `hh;Nkhd; Kiwfs;   4. fUj;jil khj;jpiufs;  
 A B C D 
a. 2 1 3 4  
b. 1 2 3 4  
c. 4 2 3 1   
d. 3 2 1 4 
e. tpil njhpatpy;iy  
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139. Which of the following disease is caused by smoking?  
1. Pulmonary tuberculosis   2. Hypoxia  
3. Increased blood pressure  4. Gastric and duodenal ulcers  
5. Oral cancer  
a. 1, 3, 5 correct 2, 4 incorrect   b. 1, 2, 3, 4, 5 correct 
c. 1, 2, 5 correct 3, 4 incorrect   d. 1, 2, 3, 5 correct 4 incorrect  
e. Answer not known 
gpd;tUk; Neha;fSs; vJ Gifgpbj;jypdhy; Vw;gLfpwJ?  
1. EiuaPuy; fhrNeha;  2. i`ghf;rpah  
3. mjpf ,uj;j mOj;jk;  4. ,iug;ig kw;Wk; Kd;rpWFly; Gz;  
5. tha; Gw;W Neha;  
a. 1, 2, 5 rhp 2, 4 rhpay;y    b. 1, 2, 3, 4, 5 rhp  
c. 1, 2, 5 rhp 3, 4 rhpay;y    d. 1, 2, 3, 5 rhp 4 rhpay;y  
e. tpil njhpatpy;iy 

 
140. Which of the following is symptoms of diabetes mellitus?  

1. Hyperglycemia   2. Glycosuria   3. Polypuria 
4. Polyphagia   5. Polydipsia  
a. 3, 4, 5 correct, 1, 2 incorrect  b. 1, 3, 4, 5 correct 2 incorrect  
c. 1, 2, 3, 4, 5 correct    d. 2, 3, 4, 5 correct 1 incorrect  
e. Answer not known 
gpd;tUtdtw;Ws; vJ ePhpopT Nehapd; mwpFwpfs; MFk;?  
1. i`gh;fpisrPkpah  2. fpisNfh#hpah   3. ghypA+hpah  
4. ghypNg[pah  5. ghypbg;rpah  
a. 3, 4, 5 rhp  1, 2 rhpay;y  b. 1, 3, 4, 5 rhp 2 rhpay;y  
c. 1, 2, 3, 4, 5 rhp   d. 2, 3, 4, 5 rhp 1 rupay;y 
e. tpil njhpatpy;iy 

 
141. Leukaemia are called as ________.  
 a. Blood cancer   b. Stomach cancer  c. Lung cancer   
 d. Brain cancer   e. Answer not known 

ypA+f;Nfkpah ________ vd;W miof;fg;gLfpwJ?  
a. ,uj;jg; Gw;WNeha; b. tapW Gw;WNeha;   c. EiuaPuy; Gw;WNeha;  
d. %is Gw;WNeha;  e. tpil njhpatpy;iy 

 
142. Who revised the six kingdom system to seven kingdom system? 

a. Cavalier Smith   b. Carl Woese  c. Ernst Haeckal   
d. John Ray   e. Answer not known 
ahu; MWyf tifg;ghl;bid VOyf tifg;ghlhf khw;wpdhu;? 

 a. Nftypau; - ];kpj;  b. fhu;y; Nthap];  c. vu;d];l; n`f;fy;   
d. [hd; Nu    e. tpil njhpatpy;iy 

 
143. The wall of the small intestine bears crypts between the base of villi called _______  

a. Crypts of Leiberkuhn  b. Crypts of Peyer   c. Crypts of Brunner   
d. Crypts of Lister   e. Answer not known 
rpWFlypd; Rtu; kPJs;s FlYwpQ;rpfspd; mbg;gFjpfSf;fpilNa fhzg;gLk; 
kbg;Gfs; ________ vd;W miof;fg;gLfpd;wd.  
a. ypgu;fd; kbg;Gfs;  b. Ngau; kbg;Gfs;   c. GUd;du; kbg;Gfs;   
d. yp];lu; kbg;Gfs;  e. tpil njhpatpy;iy 
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144. Digestive glands are _________ type of glands? 
a. Endocrine glands  b. Exocrine glands   c. Apocrine glands   
d. Ecrine glands  e. Answer not known 
nrupkhdr; Rug;gpfs; _________ tif Rug;gpfs; MFk; 
a. vz;Nlhfpiud; Rug;gpfs;  b. vf;N]hfpiud; Rug;gpfs;    
c. mg;Nghfpiud; Rug;gpfs;  d. vf;iud; Rug;gpfs; 
e. tpil njhpatpy;iy 

 

145. Which of the following involves in the synthesis of urea? 
a. Liver   b. Kidney    c. Spleen    
d. Pancreas  e. Answer not known 
gpd;tUtdtw;Ws; vJ A+upahit cUthf;Ftjpy; gq;Nfw;fpd;wJ? 
a. fy;yPuy;   b. rpWePufk;    c. kz;zPuy;    
d. fizak;   e. tpil njhpatpy;iy 

 

146. Consider the following statements: 
Assertion (A): The rate of breathing in aquatic organisms is much faster than land 
animals. 
Reason (R): The amount of dissolved oxygen is very low in water compared to the 
amount of oxygen in the air. 
a. Both A and R are correct and R is the correct explanation to A 
b. Both A and R are correct and R is not the correct explanation to A  
c. A is true but R is false  
c. A is false but R is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;: 
$w;W (A) : ePh;tho; tpyq;Ffspd; Rthr tPjk; jiutho; tpyq;Ffisf;  
    fhl;bYk; Ntfk; kpf;fjhFk;.  
fhuzk; (R): tspkz;lyj;jpy; cs;s Mf;rp[id tpl ePhpy; fiue;Js;s  
    Mf;rp[dpd; msT kpfTk; FiwT. 
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk; MFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;Fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 
 

147. Which instrument is used to measure the volume of air involved in breathing 
movements for clinical assessment of a person’s pulmonary function? 
a. Anemometer   b. Spirometer   c. Sphygmomanometer   
d. Altimeter    e. Answer not known 
xUthpd; EiuaPuy; nray;ghl;il mwptjw;fhd kUj;Jtf; fzf;fPl;by; Rthrj;jpd; 
NghJ gq;Nfw;Fk; fhw;wpd; nfhs;sit msf;f ve;j fUtp gad;ghl;by; cs;sJ?  
a. mdpNkhkPl;lh;  b. ];igNuhkPl;lh;   c. ];gpf;NkhkhNdhkpl;lh;  
d. my;l;b kPl;lh;   e. tpil njhpatpy;iy 

 

148. When CO2 diffuses into the RBCs, it combines with water forming carbonic acid 
catalyzed by ______________ 
a. Carbonic dehydrogenase   b. Carbonic isomerase 
c. Carbonic topoisomerase    d. Carbonic anhydrase 
e. Answer not known 
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,uj;jj;jpYs;s rptg;gZf;fSf;Fs; CO2 Eioe;jJk; mq;F ePUld; ,ize;J 
fhh;ghdpf; mkpykhfpwJ. ,t;tpidf;F tpidA+f;fpahff; ________ nray;gLfpwJ.  
a. fhh;ghdpf; bi`l;Nuh[pNd];  b. fhh;ghdpf; INrhnkNu];  
c. fhh;ghdpf; NlhNghINrhnkNu];  d. fhh;ghdpf; md;i`l;Nu]; 
e. tpil njhpatpy;iy 
  

149. The ratio of red blood cells to blood plasma is expressed as ________ 
a. Haemopoiesis    b. Haematocrit   c. Haemocoel   
d. Hemoptysis    e. Answer not known 
gpsh];khtpYs;s ,uj;j rptg;G mZf;fSf;Fk;> ,uj;j gpsh];khtpw;Fk; ,ilNa 
cs;s tpf;fkhdJ _________ vd;W miof;fg;gLfpwJ?  
a. P̀NkhNgha;rp];   b. `pkl;Nlhfphpl;   c. `pNkhrpy;   
d. `pNkhg;ilrp];    e. tpil njhpatpy;iy 

 
150. Match the following: 

Blood Group   Agglutinin  
A. A    1. No Antibodies  
B. B    2. Anti A and Anti B 
C. AB     3. Anti A 
D. O     4. Anti B 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf:  
,uj;j tFg;G   mf;@l;bdpd;fs;  
A. A    1. Md;bghbfs; ,y;iy  
B. B    2. Md;b A kw;Wk; Md;b B  
C. AB    3. Md;b A 
D. O     4. Md;b B 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
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